NAIR Assistant Personnel Officer APO

Topic:- APO_PA_NAIRJUNE23

1) At how many levels does the Permanent Negotiating Machinery (PNM) function on
Indian Railways?

(1) 1
(2) 2
(3) 3
(4) 4
TR Yo 7 T arat o (PNM) Fieer St OF &1 3T 87
(1 1
@) 2
(3) 3
4) 4

[Question ID = 1][Question Description = Q01_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 1]
2. (2) [Option ID = 2]
3. (3) [Option ID = 3]
4. (4) [Option ID = 4]

Correct Answer :-
® (3) [Option ID = 3]
2) Whois the Chairman of the Joint Consultative Machinery at the National level?

(1) CEOQ & Chairman, Railway Board

(2) Cabinst Secretary

(3) Labour Secretary

(4) Home Secretary

USET T 9 GYFd GONEHR 7 Tl 3TETE Fiel Gl &2
(1) €3t 3 ey, e 9
(2) FR=-egRa
(3) = @i
(4) I @R

[Question ID = 2][Question Description = Q02_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 5]
2. (2) [Option ID = 6]
3. (3) [Option ID = 7]
4. (4) [Option ID = 8]

Correct Answer :-
® (2) [Option ID = 6]



3) (A) Staff Councils in production uniis can discuss issues concerning conditions of
service. (B) Matters related to improvement of efficiency and productivity are not
covered by staif councils:

(1) Only (A)is correct
(2) Only (B) is correct
(3) Both are correct

(4) Both are incorrect

(T) SeUTGe SIsal & FENT TG, Har i ot & Haftid HAeal W aET BT Tl g
(@) gatar AR SeEEHar § FUR F HarAT AFe FHEarl IRYE GaRT FE el e
Al

(1) el (O &

(2) aer @) ST e

(3) aETHEE©

(4) GETIERIE

[Question ID = 3][Question Description = Q03_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 9]
2. (2) [Option ID = 10]
3. (3) [Option ID = 11]
4. (4) [Option ID = 12]

Correct Answer :-

e (3) [Option ID = 11]

4) What is the full form of PREM?
(1) Participation of Regular Employees in Management
(2) Participation of Railway Employers in Management
(3) Participation of Railway Executives in Management
(4) Participation of Railway Employees in Management

PREM T 90T &9 31T §72
(1) gaue & Haf@a st $r smeie
(2) gaus F fera fdEant & aeiigr
(3) gewet & {ord T A anEighy
(4) e & e waaiar i setierdr
[Question ID = 4][Question Description = Q04_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 13]
2. (2) [Option ID = 14]

3. (3) [Option ID = 15]
4. (4) [Option ID = 16]

Correct Answer :-
® (4) [Option ID = 16]



5) (A) Activities related to sports, culture and fine arts, institutes and recreation clubs,
scouting and holiday camps are some of the welfare functions of Personnel
Department. (B) Holiday homes, staff canteens and appointments on
compassionate grounds de not come under welfare aclivities.

(1) Only (A) is correct
(2) Only (B)is correct
(3) Both are correct

(4) Both are incorrect

(0) @, Tl 3T @l sar & Gefag aRfaEal, g ik 3= a0,
TSI 3 g fRITET HIiAE 980T & F& Feaonl [ g (&) #is 81,
T STl 3 3T & TR W G ieaal Sedrorrl A fEierr & dga del

8l
(1) el (O)FAE
(2) ael () TEe
(3) gErHEeTe
(4) gefaTed s

[Question ID = 5][Question Description = Q05_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 17]
2. (2) [Option ID = 18]
3. (3) [Option ID = 19]
4. (4) [Option ID = 20]

Correct Answer :-
e (1) [Option ID = 17]
6) According to the Factories Act of 1846/1987, statutory canteens must be provided in
Railway units having at least employees.

(1) 100

(2) 1350

(3) 250

(4) 500

1948/1987 & theredl SiTEfeias & Jar, w7 4 F5 ST dreil Loid

SHISAT 3 QeIiolsh helsl GgIet ol A=l algy]
(1) 100
(2) 150
(3) 250
(4) 500

[Question ID = 6][Question Description = Q06_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 21]
2. (2) [Option ID = 22]
3. (3) [Option ID = 23]
4. (4) [Option ID = 24]

Correct Answer :-
e (3) [Option ID = 23]



7) What is the minimum qualifying service required to qualify for medical benefits under
the Retired Employees Liberalised Health Scheme (1997)?
(1) SHyears
(2) 10 years
(3) 20 years
(4) None of these

Harfeigd sa) sadied Tareed Al (1997) & ded fafhaar @t & T 3edr
STed e & felT 3TaRge ~eTdsT AT Tar &1 §72

(1) 599

(2) 10@9

(3) 2099

(4) S U HIS el

[Question ID = 7][Question Description = Q07_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 25]
2. (2) [Option ID = 26]
3. (3) [Option ID = 27]
4. (4) [Option ID = 28]

Correct Answer :-
e (4) [Option ID = 28]
8) (A) Fixed Medical Allowance (FMA) can be paid only to Railway pensioners or family
pensioners. (B) The current rate of FMA is Rs.1000/- per month.
(1) Only (A) is correct
(2) Only (B)is comrect
(3) Both are correct
(4) Both are incorrect

() i@ Rfehcar sm@r (ThUaAT) &1 $ITdTe shael Joid URIERT AT 9rNdTe Gl @
feFam <1 Gepen &1 (1) THUAT T G &1 1000 F9 9T A1 ¢
(1) el (T) TeT g
(2) e (@) werE
(3) 2l T
(4) =il aTeTd &
[Question ID = 8][Question Description = Q08_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 29]
2. (2) [Option ID = 30]

3. (3) [Option ID = 31]
4. (4) [Option ID = 32]

Correct Answer :-
e (3) [Option ID = 31]



9) (A) Forms of recreation other than sports, are not covered under the Staff Benefit
Fund. (B) Receipts from fines and unpaid wages beyond three years, can be used to
source Staff Benefit Fund.

(1) Only (A) s correct
(2) Only (B) is correct
(3) Both are correct

(4) Both are incorrect

(1) Tietehe; o 3TelTal 3o YR & Hellotel TeI dielithe s & Jiadid aal 3d g1 (3)
SIHTAT 3R ciler ATe ¥ 31T S leies Horgdl § Sl s ST e ofs foifel &
Fid & o far ST gar gl

(1) Fac (O FEa&

(2) el (@) FEr R

(3) GETHEEE

(4) =l Irerd &

[Question ID = 9][Question Description = Q09_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 33]
2. (2) [Option ID = 34]
3. (3) [Option ID = 35]
4. (4) [Option ID = 36]

Correct Answer :-
® (2) [Option ID = 34]

10) (A) The maximum number of dependent relatives who can be included on a single
PTO, is one. (B) The tatal number of family members and dependents allowed on a
single privilege pass, is five.

(1) Only (A) is correct
{2) Only (B)is correct
(3) Both are correct

{(4) Both are incorrect

(1) Uk T3 7 enfarer ST S T arer snfAd RederT & 31fdeas gear v & (&)
Ue AR O T TRER F 6 3R A1AET 6 31eeaH §Ear 7 g
(1) el () TETE
(2) hae (@) TR
(3) SETEETE
(4) gt arerd &
[Question ID = 10][Question Description = Q10_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 37]
2. (2) [Option ID = 38]

3. (3) [Option ID = 39]
4. (4) [Option ID = 40]

Correct Answer :-
® (2) [Option ID = 38]



11) (A) Afirst class 'A’ pass also covers free travel for one attendant in second class. (B)
In such cases, attendant means a person who is a regular salaried employee of the
pass holder in his/her personal capacity.

(1) Only (A)is correct
(2) Only (B)is correct
(3) Both are correct

(4) Both are incorrect

(W) e s Aol ' 9 ol gfacia Al & v ailae & o Jrd A @ sat Hd
¥ (&) 0wl 7, aRaRE #7939 cafEa @ &S 39 eatEaerd awar 3 g

I 1 HATHT Sl FHal o
(1) el () FEE
(2) el @) EEE
(3) a=rHEE
(4) <l e g

[Question ID = 11][Question Description = Q11_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 41]
2. (2) [Option ID = 42]
3. (3) [Option ID = 43]
4. (4) [Option ID = 44]

Correct Answer :-
e (3) [Option ID = 43]

12) What is the validity of year ending privilege passes?
(1} 3 months
(2) 4 months
{3) 5 months
(4) 6 months

T oo giel arel faLsTiererT TRy & Serar = 872

(1) 3#@=
2 47
(3) S5#HEE
(4) 6#HA=

[Question ID = 12][Question Description = Q12_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 45]
2. (2) [Option ID = 46]
3. (3) [Option ID = 47]
4. (4) [Option ID = 48]

Correct Answer :-
e (3) [Option ID = 47]
13) A Railway servant shall be deemed to have been placed under suspension, if he/she
Is deiained in police custody on any charge for a penod of more than
hours.
(1) 12
(2) 24
(3) 36
(4) 48

U It Bk & feloia & agd @7 131 AT Seen, Iie 39 Rt of IR &

He J 31T 1 srafe  fere gfe fguwa & war gl
1) 12
52) 24
(3) 36
(4) 48



[Question ID = 13][Question Description = Q13_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 49]
2. (2) [Option ID = 50]
3. (3) [Option ID = 51]
4. (4) [Option ID = 52]

Correct Answer :-
® (4) [Option ID = 52]

14) (A) A railway employee is entitled to a credit of 15 days LAP and 15 days LHAP on
the 15t of January. (B) A railway employee who has more than 300 days of LHAP at
credit, is permitted to avail the additional credit of 15 days within six months

otherwise these will lapse.
(1) Only (A) is correct
(2) Only (B)is correct
(3) Both are correct.
(4) Both are incorrect

(T) U 3o FHAT 1 F=ad F 15 TGAT & veredr 3R 15 [GAl & uowaed &
FieC & gHGR ol ol gl (9) vF @ wAa, oOd @ #7300 B4 ¥
e &1 TeTgudr B, I ©F FeE & HiaT 15 Bat & 5w 3fieT FEe o
3UAET & Thdl p o2l Ig T & S|

(1) el () HaT e

(2) el () TET &

(3) aETEEE

(4) axt e &

[Question ID = 14][Question Description = Q14_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 53]
2. (2) [Option ID = 54]
3. (3) [Option ID = 55]
4. (4) [Option ID = 56]

Correct Answer :-
e (4) [Option ID = 56]
15) (A) An order of suspension of a Railway servant should be reviewed before the
expiry of 180 days from the date of the order. (B) As per rules, suspension is a
penalty If it 1s because of anti-national activity.
(1)  Only (A) is correct
(2) Only (B)is correct
(3) Both are correct
(4) Both are incorrect

() FTCRr T adiE & 180 T&a1 il THICT T Uge U {0 QaF & eiaad & ERN &1
gHET F S AR @) FE F wER, Pesd oF g3 @ 9y g8 use B

aifafafer & sror
(1) ael (U T &
(2) aer (df) wET &
(3) ol Her &
(4) Gl e g

[Question ID = 15][Question Description = Q15_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 57]
2. (2) [Option ID = 58]
3. (3) [Option ID = 59]
4. (4) [Option ID = 60]

Correct Answer :-
e (4) [Option ID = 60]



16) Which of the following fields are available in the basic module of HRMS?
(1) Gender
(2) Aadhar card details
(3) PAN card details
{(4) All of these

TIIREATY F e Aigae # e § ¥ #ia 9 e ey §2

(1) Fefr

(2) IR F1s fFagr
(3) U1 =2 fFavor
(4) Jws

[Question ID = 16][Question Description = Q16_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 61]
2. (2) [Option ID = 62]
3. (3) [Option ID = 63]
4. (4) [Option ID = 64]

Correct Answer :-
® (4) [Option ID = 64]

17) Which of the following forms I1s used for revocation of the orders of suspension?
(1) SF No.1
(2) SF No. 2
(3) SFNo.3
(4) SF No 4

ToYeTaeT & 3TTGRT 116G FX1 & (01U Tela=TTel el 3 3 Tohe i# I 39T fomal el 672

(1) THUE = 1
(2) UHIH FeH 2
(3) wHUE A 3
(4) THUE A 4

[Question ID = 17][Question Description = Q17_APO_PA_NAIRJUNE23]

1. (1) [Option ID = 65]

2. (2) [Option ID = 66]

3. (3) [Option ID = 67]
4. (4) [Option ID = 68]

Correct Answer :-
® (4) [Option ID = 68]

18) In a chargesheet iIssued under D&A Rules;, 1966, the list of witnesses (if any) is to

be mentioned in
(1) Annexure-|
(2) Anmnexure-l|
(3) Annexure-lll
(4) Annexure-1V

2 Uz v WaH, 1968 & ded Il aieefic A, Jamw & g9 (I P 8 F Ieo@
& fohar AT 8
(1) 3feTeer|
(2) 3reqaerl
(3) 3TTEErll
(4) IV

[Question ID = 18][Question Description = Q18_APO_PA_NAIRJUNE23]

1. (1) [Option ID = 69]
2. (2) [Option ID = 70]



3. (3) [Option ID = 71]
4. (4) [Option ID = 72]

Correct Answer :-
e (4) [Option ID = 72]
19) Which of the following is not defined as a penalty under D&A Rules, 19687

(1) Censure

(2) Warning

(3) Stoppage of PTO

(4) Withholding of promotion

3t U5 U @a#, 1968 & dgd Hefaiad & O 8 68 & &9 & afisni®a #@g7
T I/ g2

(1) Wer

(2) TdrEstt

(3) FEET ket

(4) ger=td Uepell

[Question ID = 19][Question Description = Q19_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 73]
2. (2) [Option ID = 74]
3. (3) [Option ID = 75]
4. (4) [Option ID = 76]

Correct Answer :-
® (2) [Option ID = 74]
20) After the conclusion of a disciplinary inquiry, no penalty can be imposed on the
charged employee before .
(1) issuing notice of imposition of penalty
(2) the cross-examination of witnesses
(3) the inspection of official records
(4) 1ssuing of speaking orders

Ueh FRITTCHe S &[Sy & a1, RTId Haad 9T B 9gel FIS &3
TR ST i Tehell &
(1) T3 T &Y JTAT oI et
(2) Framet 1 5
(3) 3nTaeiE R & deror
(4) I 3G
[Question ID = 20][Question Description = Q20_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 77]
2. (2) [Option ID = 78]

3. (3) [Option ID = 79]
4. (4) [Option ID = 80]

Correct Answer :-
® (4) [Option ID = 80]



21) (A) If an employee retires from service during disciplinary proceedings against
him/her, the proceedings shall be deemed to have concluded and the disciplinary
authonty may recommend a cut in pensionary benefits against him/her. (B) Under
the D&A Rules, a chargesheet can be issued against any refired Railway servant for
participating in anti-national activities with the approval of his/her last controlling
officer.

(1) Only (A)is correct
(2) Only (B) is correct
(3) Both are correct

(4) Both are incomrect

() A 1S FHa 36 WATE SRS FRERT & R 397 & Qarf-ad giar
&, ol SRR I FAICT HIAT AN IR Iqenafsir Tt 3ud e G2 ont J
Felel & Fwier o gwar &1 (@) 21 vz v gt & aga, e st dariEg o
FHANY & T@ars or Al il & s o & foe 39 Aas = A
& 3reHIce ¥ IR T S B o Fhal &1
(1) el (U)W
(2) et () TErE
(3) a=ATHETE
(4) THElIed &
[Question ID = 21][Question Description = Q21_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 81]
2. (2) [Option ID = 82]

3. (3) [Option ID = 83]
4. (4) [Option ID = 84]

Correct Answer :-
® (4) [Option ID = 84]
22) What does Rule 25 of the RS (D&A) Rules, 1968, deal with?
(1) Appeal
(2) Penaliies
(3) Inguiry
(4) Revision

IATH (31 s U) [HH, 1968 &7 fager 25 fad gaa g2
(1y 3
(2) &3
(3) =g
(4) werrE

[Question ID = 22][Question Description = Q22_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 85]
2. (2) [Option ID = 86]
3. (3) [Option ID = 87]
4. (4) [Option ID = 88]

Correct Answer :-
e (4) [Option ID = 88]



23) (A) An employee who is dismissed from service, shall be treated as ineligible for all
future employment under the Government (B} A written warning and censure are
both minor penalties under D&A Rules.

(1) Only (A)is correct
(2) Only (B)is correct
(3) Both are correct

(4) Both are incorrect

(7) Uk Fean e Sar & S@ied & Gar 3147 §, TR & ded AfasT & @l Joae
& fetw 39 AT seam| (&) v oif@a gt 31 e giat St s v ATt & ded
AT G5 ¢

(1) Fad ()T &

(2) aer (@ FETE

(3) GETHErE

(4) @Il Irerd &

[Question ID = 23][Question Description = Q23_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 89]
2. (2) [Option ID = 90]
3. (3) [Option ID = 91]
4. (4) [Option ID = 92]

Correct Answer :-

e (1) [Option ID = 89]

24) (A) Participation by a Railway employee in an illegal stnke shall cause a break in
serviceg, (B) This break in service in the career of a Raillway employee, can be
condoned only by the President. '

(1) Only (A)is correct
(2) Only (B)is correct
(3) DBoth are correct

(4) Both are incorrect

(T) Yot FHHANT AT e gEarel & AT o & Aar # sae e (@) W
FHER & Jar # A Tde, Shael TSgUTa GaRT &TAT RO ST dehaT B
(1) e (T) T&§
(2) el (<) TETE
(3) < wEr g
(4) @it arere §
[Question ID = 24][Question Description = Q24_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 93]
2. (2) [Option ID = 94]

3. (3) [Option ID = 95]
4. (4) [Option ID = 96]

Correct Answer :-
® (3) [Option ID = 95]



25) The amount of monthly subscription to SRPF (Non-contributory) is equal

to of monthly emoluments of the subscribing employee.
(1) 1/8th
(2y 1/12th
(3) 8%
4 12%
SRPF (I-3fverY) $r A F Heaaar &7 TR, JeEAar oisl aiel shaaiy @l JAfds
gilefeuar & FaE e
(1) 1/8d
2) 1128
(3) 8%
4y 12%

[Question ID = 25][Question Description = Q25_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 97]

2. (2) [Option ID = 98]

3. (3) [Option ID = 99]

4. (4) [Option ID = 100]

Correct Answer :-

e (2) [Option ID = 98]

26) What is the full form of SBF?
(1) Staff Beneficiaries Fund
(2) Staff Benevolent Fund
(3) Staff Benefit Fund
{4) None of these

T T 9O T F4T &7
(1)  =arary enemff f&fer
(2) T Bl @
(3) oW dffhe B3
(4) ZAH F Fs AqG

[Question ID = 26][Question Description = Q26_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 101]
2. (2) [Option ID = 102]
3. (3) [Option ID = 103]
4. (4) [Option ID = 104]

Correct Answer :-
e (3) [Option ID = 103]

27) The upper age limit for claiming reimbursement of Children's Education Allowance in
the case of normal childrenis .
(1) up to 18 years
(2) 20 years or till the time of passing Class 12, whichever is earlier
{3) {ill the time of passing Class 12th
(5] 22 years

A Gl & HAHe! H ol 1 [R1aT 377 7 Gicrqfed &7 grar et 7 I 3 dET
__ &l

(1) 1899 d®

(2) 20 39 2T 1247 F&T 30T F IF, S M IR B

(3) 12" =T 30T S OF

(4) 22a9

[Question ID = 27][Question Description = Q27_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 105]



2. (2) [Option ID = 106]
3. (3) [Option ID = 107]
4. (4) [Option ID = 108]

Correct Answer :-
® (2) [Option ID = 106]

28) When a Railway servant proceeds on duty for 10 hours beyond 7 km from his/her
HQ, what is the rate at which he/she will claim travelling allowance?

(1) 30%
(2) 70%
(3) 100%

(4) Nong of these

9 PIs 1ol Has A L § 7 AT F 307 10 €9 F 0w 598 W §, o 9

R & 9T 1= 912 5 g1aT SR
(1)  30%
(2) 70%
(3) 100%
(4) A FFS T[T

[Question ID = 28][Question Description = Q28_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 109]
2. (2) [Option ID = 110]
3. (3) [Option ID = 111]
4. (4) [Option ID = 112]

Correct Answer :-
® (4) [Option ID = 112]

29) (A) In the case of temporary transfer, the staff can claim TA for a maximum of 180
days. (B) Composite Transfer Grant is payable to an employee if the period of
temporary transfer exceeds 180 days.

(1) Only (A) is correct
(2) Only (B) is correct
(3) Both are correct

{4) Both are incorrect

() 3T FTATCROT & Je &, Al sifeeaa 180 At F v & #7 gar W
Thd &1 (&) et TreTaLeT & et 180 BaT & 3776% gie 9T U Al & gaa

FAATHT AT &7 6
(1) ga ([@EAE
(2) FawETEE
(3) ceTHEE
(4) ol g

[Question ID = 29][Question Description = Q29_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 113]
2. (2) [Option ID = 114]
3. (3) [Option ID = 115]
4. (4) [Option ID = 116]

Correct Answer :-
e (1) [Option ID = 113]



30) What i1s the maximum amount of DCRG admissible, as per the 7th Central Pay

Commission?
(1) Rs 20 lakh
(2) Rs 25 lakh
(3) Rs 15 lakh
(4)  Rs 10 lakh

BT FERT dciel SR & IR G SIEISTREA &1 HfEiaas iR #1187

(1) 20 @ ¥
(2) 257E 59
(3) 15TE@ I
(4) 10 @rE T

[Question ID = 30][Question Description = Q30_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 117]
2. (2) [Option ID = 118]
3. (3) [Option ID = 119]
4. (4) [Option ID = 120]

Correct Answer :-
e (1) [Option ID = 117]

31) What is the percentage of additional pension that is granted to a retired Railway
employee who attains 90 years of age?
(1) 20% of basic pension
(2) 30% of basic pension
(3) 40% of basic pension
(4) 100% of basic pension

90 T T 1Y YTCc FeA arel Ueh Halielga {etd heal T &1 Sl arell AT gere
1 gfcrerd fohaem 872

(1) el 9= 1 20%

(2) HoT YA FT 30%

(3) T U HT 40%

(4) T 9T T 100%

[Question ID = 31][Question Description = Q31_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 121]
2. (2) [Option ID = 122]
3. (3) [Option ID = 123]
4. (4) [Option ID = 124]

Correct Answer :-
® (3) [Option ID = 123]

32) What is the maximum permissible imit for commutation of pension admissible to a
Railway servant on superannuation?
(1) 40% of Pension
(2) 20% of Pension
(3) 50% of Pension
(4) 10% of Pension

FTeaar ot I 4o &) TR =0 & TIE0R0T I ATEaHA HHT T 41 87
(1) O30T T 40%
(2) Y= H 20%
(3) =& FT 50%
(4) R T 10%

[Question ID = 32][Question Description = Q32_APO_PA_NAIRJUNE23]



(1) [Option ID = 125]
(2) [Option ID = 126]
(3) [Option ID = 127]
(4) [Option ID = 128]

A W N -

Correct Answer :-

e (1) [Option ID = 125]

33) (A) The commuted amount of pension shall be restored on completion of 15 years
from the date of reduced pension (on account of commutation). (B) Under the old
pension system, a railway servant will be eligible for monthly pension after
completion of at least 20 years of qualifying service.

(1) Only (A) is correct
(2) Only (B) s comrect
(3) Both are comrect

(4) Both are incorrect

(@) FH FT 7S G H @ F 15 a9 g g 9T (GRS F SR G A
TrRieper TR agrer &1 &1 Sealt| (@) el SR YOl & aad Lo e e o 5 20
Y T IEeRIT T U7 el I AT SRIeT T I BT

(1) el ()T &

(2) el (&) TR

(3) a=tEEE

(4) @t areid §

[Question ID = 33][Question Description = Q33_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 129]
2. (2) [Option ID = 130]
3. (3) [Option ID = 131]
4. (4) [Option ID = 132]

Correct Answer :-
e (1) [Option ID = 129]

34) What is the minimum qualifying service reguired to become eligible for retirement
gratuity?
(1) 5years
(2) 10 years
(3) 20 years
(4) 1year

aregh I=gE & AT 9 S o O 3TERa wgeaA AT §ar T 7

(1) 598
(2) 1099
(3) 209W
(4) 1a%

[Question ID = 34][Question Description = Q34_APO_PA_NAIRJUNE23]

1. (1) [Option ID = 133]

2. (2) [Option ID = 134]

3. (3) [Option ID = 135]
4. (4) [Option ID = 136]

Correct Answer :-
e (1) [Option ID = 133]



35) (A) The number of candidates to be called for a trade test should be equal to the
number of existing vacancies plus those anticipated during the next one year. (B)
The maximum time limit for completion of a trade test is six weeks, or else it will be
treated as a fresh trade test.
(1) Only (A) is correct
(2) Only (B) is correct
(3) Both are correct
(4) Both are incorrect

(T) ST 9T & AT geme ST arel 3esfigant S G Hegr RiFaat 1 g
I 30TeT Ue Ay & aie SefATTea RiTaal & aet glell arfge) (&) sueaard adeT
R Flel T ST FHT HIAT O 6 6, TN 4 Teh o0 cgaqry Ga & &9
F =T Sea|

(1) hae (T) TE ¢

(2) eherer (1) WETR

(3) cETHEEG

(4) ST ITEId B

[Question ID = 35][Question Description = Q35_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 137]
2. (2) [Option ID = 138]
3. (3) [Option ID = 139]
4. (4) [Option ID = 140]

Correct Answer :-
e (3) [Option ID = 139]

36) (A) In recruitment, reservation provided for SC, ST, OBC and EWS candidates is
'horizontal' in nature. (B) For promotions of PwBD railway employees within their
cadre, post-based roster of reservation is used.

(1) Only {(A)is correct
(2) Only (B)is correct
(3) Both are correct

(4) Both are incorrect

(@) s5cif 1, arTafaa anfa, smaRa s, 3 foser a9 AR Sssoqua sigant
& iU 3EToT gahid # 'aifaer &1 (@) TiescudisT Td saafial & 319e 31 & ofiay
Yelestia & oI, HNETOT & GIEe-3Tenid Jed &7 392197 fohar omar g

(1) wad (@ THE

(2) aer (@) HEEE

(3) GTHEIE

(4) T aTeid &

[Question ID = 36][Question Description = Q36_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 141]
2. (2) [Option ID = 142]
3. (3) [Option ID = 143]
4. (4) [Option ID = 144]

Correct Answer :-
® (4) [Option ID = 144]



37) (A) For premotion to the next higher grade by selection, it is essential to complete at
least two years of qualifying service in the immediaie lower grade as on the date of
the test. (B) There is no relaxation of passing marks for SC and ST employees in
promotions to safety categories.

(1} Only (A) is correct
(2) Only (B)is correct
(3) Both are correct

(4) Both are incorrect

mwaﬁmmﬂﬁrﬁgﬁq@ﬁﬁﬁ&ﬁm,qﬂmaﬁr%ﬁ%mmﬁmﬁ
A5 F o § A ol Aol BT 3geh aT G A1 Haeash g1 (<) Fea AT 7 geieeic
A g st 3N segia swenfd & SHurfEr & @ s st 7 $15 ge agr

gl
(1) Fael (O &
(2) el @) FE
(3) CETEEE
(4) TtIEae

[Question ID = 37][Question Description = Q37_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 145]
2. (2) [Option ID = 146]
3. (3) [Option ID = 147]
4. (4) [Option ID = 148]

Correct Answer :-
® (2) [Option ID = 146]

38) (A) When an employee is untraceable for at least seven years. his dependent heir is
eligible for appointment on compassionate grounds. (B) This limit of seven years
may be relaxed to one year with the approval of the General Manager.

(1}  Only (A) is carrect
(2) Only (B)is correct
(3) Both are correct

(4) Both are incorrect

() STe IS Fa F3  FH AT AIel H oA9al §, ol SHHT AT S TeenT eqear
% 3R W g & e a1 &) J1a a¥ 1 58 W31 S Ay & 36He §

U I o eIt T o gEar g
(1) el (U FEI§
(2) el () wETE
(3) cEruEEe
(4) ol I §

[Question ID = 38][Question Description = Q38_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 149]
2. (2) [Option ID = 150]
3. (3) [Option ID = 151]
4. (4) [Option ID = 152]

Correct Answer :-
e (4) [Option ID = 152]



39) (A) If both the parents are railway employees, compassionate appointment will be
admissible in case of death of either parent, on the condition that only one
compassionate appointment will be given to the dependent. (B) In case the widow
cannot take up employment, the case for appointment on compassionate grounds
will be kept open for appointment of a minor son on attaining majority, even if at the
time of the death of the railway employee, there is a daughter who has attained
majority and/or a major son who is already employed.

(1)  Only (A) is correct
(2) Only (B)is correct.
(3) Both are correct

(4) Both are incorrect

(@) afg Aa-far gl od &Ed § o o 7 § B oo & oo de )W
Fegear Tgferd 38 o WX TR g1 o 3P T Shael U g Hepehe T S gferd &1
SRR

(&f1) Afe e ST AGOT =761 Y Hehell & ol HalehaaT & YN W g fed &l AFelr
FearEa YA o alfoidr gldl 9 feaierd @ Tore wor war simean, sel € Yo7 hefardl 61 §eg
& HHA AT B 8 aaehal Wice &4 ol § 30T U 9%k 99 Sl 9gel § 8 SRR

el
(1) Fae (0T &
(2) hael (@) WEE
(3) cETHEg
(4) QI e

[Question ID = 39][Question Description = Q39_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 153]
2. (2) [Option ID = 154]
3. (3) [Option ID = 155]
4. (4) [Option ID = 156]

Correct Answer :-
® (3) [Option ID = 155]

40) (A) When a railway employee Is transferred to a new station which is more than
2000 km away, he is entitled to a joining time of 15 days and (B) of 12 days if he
travels by flight.

(1)  Only (A) is correct
(2)  Only (B) is correct
(3) Both are correct

(4) Both are incorrect

(T) &I U {ed AT &l Ueh a0 FCR0 9T I ohdT ol g 9f 2000 6T &
3TTe &3 &, o 98 15 =t & Sasfelar THT 71 ghalk aial & 31 (#) 12 f&a0 &1 391

dg 38T+ O AT HLdl 6|
(1) Fae (OTAE
@ Faw @ e
(3) QT
(4) T IEdE

[Question ID = 40][Question Description = Q40_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 157]
2. (2) [Option ID = 158]
3. (3) [Option ID = 159]
4. (4) [Option ID = 160]

Correct Answer :-
® (3) [Option ID = 159]



41) (A) As per the MACPS (Modified Assured Career Progression Scheme), there shall
be three financial upgradations during the entire service of an employee. (B) The
benefit of MACPS is also applicable to the staff of statutory bodies under the
administrative control of Indian Railways.

(1)  Only (A) is correct
(2) Only (B) is correct
(3) Both are correct.

(4) Both are incarrect

(T) TATHTE (GRifeT i HRat gaifc Alsrn) & HTaR, T FEg H @9
Far & clua die B 3eage g (@) vavdidieg & o dufas St &
FAATAT 9 T SEL g ¢ il IR {679 & ST @A A ¢ |

(1) haer (OIS E
(2) ad (3 WeT &
(3) ot wEr R
(4) eI e

[Question ID = 41][Question Description = Q41_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 161]
2. (2) [Option ID = 162]
3. (3) [Option ID = 163]
4. (4) [Option ID = 164]

Correct Answer :-
e (3) [Option ID = 163]

42) (A) An employee who has passed a suitability test once, should be called for the
same test again if he has been waiting for more than two years for his promation to
take effect. (B) An employee failing in a suitability test can be considered for a fresh
suitability test only after a lapse of six months.

(1)  Only (A) is correct
(2) Only (B)is correct
(3) Both are correct

(4) Both are incorrect

(T) T Sl foidel Ueh S IUYeFial TO8T0T 919 T foran §, 38 O & 38 9dem &
fore g st =g T Afe g 9T ugleaf & JrEn glet & Tl & |rer & 1fees §6g
T FclaTr & 18T 81 (<) ITZEFTan JUGT0T & A6 ale) alel HHIN 1 hael O Hald
& 3R ¥ 91 A7 ITRETAT 6107 & Toiw faam fam o e o

(1) el (@) ®ET &
(2)  hael (N Tl
(3) GETHgE

(4) geisEds

[Question ID = 42][Question Description = Q42_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 165]
2. (2) [Option ID = 166]
3. (3) [Option ID = 167]
4. (4) [Option ID = 168]

Correct Answer :-
® (4) [Option ID = 168]



43) An employee promoted after being found suitable cannot be reverted to his previous
post after eighteen months for unsatisfactory work without
(1)  the approval of the selection committee
(2) following the procedure as per D&A Rules
(3) the approval of PCPO and PHOD concerned
(4) None of these

I U AW F 916 Tolend SO A SR & IS & @ e
IERE Al o 916 379+ Fee! 969X aT9w =11 fohaT <l erdl

(1) =g giAfa & &eid

(2) =rvE U AT & AqER gikar

(3)  werEe e 3R drewsndn & Aol

(4) EoH HHIS AR

[Question ID = 43][Question Description = Q43_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 169]
2. (2) [Option ID = 170]
3. (3) [Option ID = 171]
4. (4) [Option ID = 172]

Correct Answer :-
e (2) [Option ID = 170]

44) For selections, vacancies are calculated on the basis of existing vacancies in the
cadre plus those anticipated during the next months.

(1) 12
(2) 15
(3) 18
(4) 2

o % Terw, RiForn 1 10T dad1 # Hloer RiFadl & - 3w
HEAT & giuer arafara RfEaar & 3w o 1 sl 81
(1) 12
(2) 15
(3) 18
(4) 2
[Question ID = 44][Question Description = Q44_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 173]
2. (2) [Option ID = 174]

3. (3) [Option ID = 175]
4. (4) [Option ID = 176]

Correct Answer :-
e (2) [Option ID = 174]



45) (A) In departmental selections within Group C, the number of eligible candidates to
be called for appearing should be five times of the vacancies notified. (B) But, in the
case of general selection posts; there is no such restriction and all willing eligible
candidates should be called o appear.

(1) Only (A)is correct
(2) Only (B) is correct
(3) Both are correct

(4) Both are incorrect

(@ 39 T & shiox Rl oo 7, gy S arel 9 3Efeart f gear AR
fifeaat & ofer 3 gl @) (3 A, FA 93 96t & AFd A, U S
gideer 781 ¢ 3N Wl sTos 9 3 Neart I g s g

(1) Fael () Fel &

(2) el (@ aee

(3) SETHEEE

(4) T AT &

[Question ID = 45][Question Description = Q45_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 177]
2. (2) [Option ID = 178]
3. (3) [Option ID = 179]
4. (4) [Option ID = 180]

Correct Answer :-
e (2) [Option ID = 178]
46) Psychological Aptitude Tests are used for the recruitment of which of the following
categories?
(1) Assistant Loco Pilot and Goods Guard
(2) Station Master and Goods Guard
{3) Assistant Loco Pilot and Station Master
(4) All of these

@ & § &g Ao & sidl & e aandaias degar gfiemor s 392 fhar
ST 67

(1) | il UIIee 3R 58 s

(2) e AR AR S S

(3) WG wER g HIT TR JRCL

(4) uE T

[Question ID = 46][Question Description = Q46_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 181]
2. (2) [Option ID = 182]
3. (3) [Option ID = 183]
4. (4) [Option ID = 184]

Correct Answer :-
e (3) [Option ID = 183]



47) (A) The minimum qualifying marks for SC, ST & OBC employees in departmental
selections for safety posts is 60%. (B) If sufficient SC & ST candidates do not qualify
in such selections, then the 'best amongst failed' may be empanelled provided they
have obtained at least 25% marks.

(1) Only (A) is correct
(2) Only (B)Iis comect
(3) Both are comrect

(4) Both are incorrect

() GReT e & ferw fasmeier a2 7 ey sifd, 3egidd Seeig AR 3= Hosr
I % FANET o [elT =heTaaT 376 3% 60% & (31) Il JHTed 3 s 3T
FIHAT S o IFGaR U TAT F HEdT It He H 6, af §aass & A
I TATaee AT 51T TR &, 930 ok 3egiel el & 9T 25% 3ich Wit fhT gl
(1) el () TETE
(2) el () @&l &
(3) el Wy &
(4) St g
[Question ID = 47][Question Description = Q47_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 185]
2. (2) [Option ID = 186]

3. (3) [Option ID = 187]
4. (4) [Option ID = 188]

Correct Answer :-
e (1) [Option ID = 185]

48) What are the maximum and minimum marks allotted for seniority in a selection?
(1) 15 &01
(2) 10&05
(3) 15&05
(4) 10&01

T A aNSsAT & ToT Efed 3feea 3R ~awas 3ie a1 62
(1) 15&01
(2) 10&05
(3) 15&05
(4) 10 & 01

[Question ID = 48][Question Description = Q48_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 189]
2. (2) [Option ID = 190]
3. (3) [Option ID = 191]
4. (4) [Option ID = 192]

Correct Answer :- Deleted

49) The performance of 8C/ST employees who are promoted under the 'best amongst
failed' scheme, is to be reviewed after what duration?
(1) 3 months
(2) 6 months
(3) 1vyear
(4) 15 months

Tather 3 GIASS ATl F d5d Taleeld FhY I Iafaa AfsRta st &
FHAAT & TE2TeT o7 GHIET g 37ater & a1 Ff S g7

(1) 3#HE
(2) 6#HG
(3) 1@y

(4) 15 #gE



[Question ID = 49][Question Description = Q49_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 193]
2. (2) [Option ID = 194]
3. (3) [Option ID = 195]
4. (4) [Option ID = 196]

Correct Answer :-

e (2) [Option ID = 194]

50) (A) When an employee joins a new post that does not involve higher responsibility,
his new pay shall be fixed in the new time scale at the stage which is egual to his
pay in the old post. (B) However, if there is no such stage, then his new pay will be
fixed at the stage which is next above his old pay.

(1) Only (A) is comrect
(2) Only (B) 1s correct
(3) Both are correct
(4) Both are incorrect

(T) 1 IS FHAR HAT AU 96 I a5+ Fl g TadH ATelE g eniae #7g1
2T &, O 3T T dae AT AR F 30 T W AT R e S e ug &
3IGF ddel & SUET g (31) BTei, PR U7 i THT 81 ¢, af IHH 747 a9 39
TRUT R T T3 ST S 38 GO dae & 81 W &1

(1) F3 (TR
(2) Fad @ ESE
(3) aeraEge

(4) Gl Ied g

[Question ID = 50][Question Description = Q50_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 197]
2. (2) [Option ID = 198]
3. (3) [Option ID = 199]
4. (4) [Option ID = 200]

Correct Answer :-
® (3) [Option ID = 199]

51) What is the current rate of Dearness Allowance being paid to the employees of
Central Government?

(1) 38%
(2) 42%
(3) 43%

(4) Nong of these

TS T T H T G & HHATRAT & 6T il aTet Agalls Hd 61 6L 331 87

(1) 38%
(2) 42%
(3) 43%
(4)  SoTH 4 IS A8

[Question ID = 51][Question Description = Q51_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 201]
2. (2) [Option ID = 202]
3. (3) [Option ID = 203]
4. (4) [Option ID = 204]

Correct Answer :-
® (2) [Option ID = 202]



52) Which of the following categories of staff are eligible for drawing non-practising
allowance?
(1) Teachers of Railway colleges
(2} Railway Medical Officers
(3) Railway para-medical staff
(4) Railway Law Assistants

Arafaf@a &7 @ e & 997 & Fear IR-37M 5= 9t 3 & T aTT 2
(1) {9 Aerfacarer & e
(2) Yo Rafeecar st
(3) Yo AT @
(4) oTd Fielel HeSH

[Question ID = 52][Question Description = Q52_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 205]
2. (2) [Option ID = 206]
3. (3) [Option ID = 207]
4. (4) [Option ID = 208]

Correct Answer :-
® (2) [Option ID = 206]

53) Currently, how are cities and towns in India classified for payment of House Rent

Allowance?
(1) X Y&Z
2y A B&C

(3) Class |, Class ll & Class Il
(4) Metro, Urban & Semi-rural

JOHAT A, SR & A 3N FEaT H FIEE T HAEH () F 9P & o Sy

gafferer o SiTem 872
(1) Uy, I8 U8 ol
() uw &k

(3) e | e 1 3 e
(4) #g, eEd 3R T

[Question ID = 53][Question Description = Q53_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 209]
2. (2) [Option ID = 210]
3. (3) [Option ID = 211]
4. (4) [Option ID = 212]

Correct Answer :-
e (1) [Option ID = 209]



54) (A) Special Duty Allowance (SDA) is admissible te Railway employees serving in the
North Eastern Region at the rate of 10% of basic pay. (B) SDA is not admissible for
perods of absence, leave or training beyond a full calendar month outside the NE
region. _

(1) Only (A) is correct
(2) Only (B) is correct
(3) Both are correct

{4) Both are incorrect

(T) AL ST 7T (THET) TATeR &7 3 YA Ieid Haraliar st Hef dae o 10% Hr
& & T g1 (oY) vHEiv qafa &7 o el Ueh Ui @helst A # e Jeuieid,
EET AT IRIETOT H7 3rate & fore T AT

(1) Fda (M EB
(2) el (@) FEAE
(3) oerHdEe
4) ceEfIedy

[Question ID = 54][Question Description = Q54_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 213]
2. (2) [Option ID = 214]
3. (3) [Option ID = 215]
4. (4) [Option ID = 216]

Correct Answer :-
e (3) [Option ID = 215]

55) (A) Transport Allowance will not be admissible to a Railway official who is away from
HQ on duty from 02nd February to 02nd March 2023_ (B) Transport Allowance is a
part of taxable income of an employee.

(1) Only (A) is correct
(2) Only (B) is correct
(3) Both are correct

{(4) Both are incorrect

(v) TG 997 39 Lo T ol Tl et glam St 02 Sadl & 02 A 2023 aF
FEET § 9T ZUET W | () TRageT 37T FErl i o 9T 1 o O R g

(1) F9a (@TEE
(2) Fada @ ESE
(3) cGErEse
(4) e IEdE

[Question ID = 55][Question Description = Q55_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 217]
2. (2) [Option ID = 218]
3. (3) [Option ID = 219]
4. (4) [Option ID = 220]

Correct Answer :-
® (2) [Option ID = 218]



56) (A) After retirement, a Railway employee who settles down at a place which is more
than 20 Kms away from his last place of posting, is entitled to 80% of his basic pay
as composite transfer grant. (B) However, if the distance is less than 20 Kms then
helshe will be entitled to one third of the CTG.

(n Only (A) is correct
(2) Only (B) is correct
(3) Both are correct

(4) Both are incorrect

(7) Tarfaafa & a8, v {od A 379 Ao 9T e § 20 e &
31eie GX U wiTG SR S AT &, F SHY FHAIGNUT SAGH & €9 7 39w 7eT delel ol
80% TTel T FhaR &1 (A1) grelifsh, 3R iy 20 Fraeiict ¥ 56 & dr 9 e & o
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(2)  aeer (@) wWETE
(3) el Eel B
(4) cEiIeae

[Question ID = 56][Question Description = Q56_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 221]
2. (2) [Option ID = 222]
3. (3) [Option ID = 223]
4. (4) [Option ID = 224]

Correct Answer :-
® (4) [Option ID = 224]

57) What is the maximum amount of LHAP that can be granted to a regular employee in
one spell subject to availability in leave account?
(1) 6 months
(2) 12 months
(3) 24 months
(4) None of these

I ool @ F 3IEET @ o U IR # U WafAg SHa @ siesaa fhaer

vermudl AT A1 e 62
(1) 6#g
(2) 127
(3) 24FEA
(4) AT FIS AT

[Question ID = 57][Question Description = Q57_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 225]
2. (2) [Option ID = 226]
3. (3) [Option ID = 227]
4. (4) [Option ID = 228]

Correct Answer :-
e (3) [Option ID = 227]



58) What is the maximum amount of LAP that can be granted to a regular employee in
one spell subject to availability in leave account?
(1) 120 days
(2) 180 days
(3) 240 days
(4) 300 days

Iie, Pl Wid # 3=y gl ol U WAiA SEail i T aR 7 ifEEas e
AUl &1 ST Hebell 57

(1) 120 fea

(2) 180 et

(3) 240 e

(4) 300 =T

[Question ID = 58][Question Description = Q58_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 229]
2. (2) [Option ID = 230]
3. (3) [Option ID = 231]
4. (4) [Option ID = 232]

Correct Answer :-
® (2) [Option ID = 230]

59) (A) 'Leave not due' (on half average pay) may be sanctioned to a permanent
Railway employee on medical grounds. (B) The maximum period of such leave Is
360 days during the entire service.
(1) Only (A) is correct
{2) Only (B) is correct
(3) Both are correct
(4) Both are incorrect

(v) RafErcar SN O U T {d FHORT 9 'Iefold STaaRr (3T 3ia a9 W)
FliehcT o ST Feha g1 (&) T ST o ger U Peet s fheds 379 360 B Bl
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(2) el (d) WET &
(3) ol |l &
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[Question ID = 59][Question Description = Q59_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 233]
2. (2) [Option ID = 234]
3. (3) [Option ID = 235]
4. (4) [Option ID = 236]

Correct Answer :-
e (3) [Option ID = 235]



60) (A) A permanent Rallway staff can apply for extraordinary leave even when he has
other kinds of leave in his credit. (B) An employee on such leave shall not be entitled
to DA and HRA.

(1) Only (A) is correct
{2) Only (B) is correct
(3) Both are correct

(4) Both are incorrect

(T) Teh F2RM YeTd SFeTai ITETIROT Geel o fov ad off 3irdee & Fehal § oid 3%
U 3 YN & TaehiRr @11 (@) U Gedl 9T U A 81U 3K UE3TRT 1 FRa
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(2)  aer (o) WA &
(3) o=l |l &
(4) eI §

[Question ID = 60][Question Description = Q60_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 237]
2. (2) [Option ID = 238]
3. (3) [Option ID = 239]
4. (4) [Option ID = 240]

Correct Answer :-
® (3) [Option ID = 239]

61) Only the can sanction leave of more than 5 years at a stretch to a Railway
servant in exceptional circumstances.
(1) President
(2) Railway Board
(3) General Manager
(4) Principal Head of Department or Divisional Railway Manager

hAC _ ITETEROT IR 3 Yer a1 5 a9 I Ifaw B gedy Tiga W
Hehd ¢

(1)  Tsgaid

(2) s

(3) HgMHER

(4) e foumETeET a1 Hed {9 9EE

[Question ID = 61][Question Description = Q61_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 241]
2. (2) [Option ID = 242]
3. (3) [Option ID = 243]
4. (4) [Option ID = 244]

Correct Answer :-
e (1) [Option ID = 241]

62) Which of these is not a National Holiday?
(1) 26th January
(2) 14th April
(3) 15th August
(4)  2nd October

S51H & i TT TSCRT HIHIL ol 07
(1) 26 S=adr
(2) 1438
(3) 15 3R

(4) 2 IFdat



[Question ID = 62][Question Description = Q62_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 245]
2. (2) [Option ID = 246]
3. (3) [Option ID = 247]
4. (4) [Option ID = 248]

Correct Answer :-
e (2) [Option ID = 246]

63) What is the length of qualifying service required to be put in by a substitute worker to
attain temporary status in the Railways?
(1) 01 month

(2) 90 days
(3) 120 days
(4) 01 year

o # FErET R 9ed 6 F 6T U TEhed SHART cail STasdd ARl

a1 I TS FATE?
(1) 01 F@ET
(2) 90feT
(3) 120fee
(4) O01ay

[Question ID = 63][Question Description = Q63_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 249]
2. (2) [Option ID = 250]
3. (3) [Option ID = 251]
4. (4) [Option ID = 252]

Correct Answer :-
® (3) [Option ID = 251]

64) Which of the following job classifications can be described as having a strenuous
nature of work causing mental/physical strain with little or no periods of relaxation?
(1) Continuous
(2) Intensive
(3) Excluded
(4) Essentially Intermittent

A=faf@a &  fFa & affexor &1 &5 I SRR 95fa & &9 & afvig faear
Fercl § ToTad AT Gep/QI e Ta1d 2icT & forg# fasTe & 3 9go &6 gidl ¢ a1

=Tl gici g2
(1) FRa
(2) gt
(3) Fyafaa

(4) o &7 9 RS

[Question ID = 64][Question Description = Q64_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 253]
2. (2) [Option ID = 254]
3. (3) [Option ID = 255]
4. (4) [Option ID = 256]

Correct Answer :-
® (2) [Option ID = 254]



65) While assessing the work load of employees classified as essentially intermittent, all

periods of inaction of less than _ minutes each should be
(1 15 included
(2) 30 [/ included
(3) 5 / excluded
4y 10 |/ excluded

FfAarE w1 & 3RS & &7 7 giffcrd HAARAT & AR HI 3Theld Hld T,
__ THeie @ = & S & wel Hafe gl =g

(1y 15 / nfEe
(2) 30 / S IGEE
3 5 QITTEe 18T
(4) 10 / MTTEe 18T

[Question ID = 65][Question Description = Q65_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 257]
2. (2) [Option ID = 258]
3. (3) [Option ID = 259]
4. (4) [Option ID = 260]

Correct Answer :-

e (3) [Option ID = 259]

66) (A) A Railway employee who is classified as 'intensive' shall not be employed for
more than 45 hours per week. (B) Similarly, employees who are classified as
‘continuous’ shall wark for a maximum of 54 hours per week.

{1) Only (A) Is correct
{2) Only (B) 1s correct
(3) Both are correct

(4) Both are incorrect

() e {oid @Re Tl Told 9Tge” & &9 3 gdfieha ok 31T B, Uid dcaig 45 8¢ ¥ i
& el feanfsia @8t favar soam () 6@ oie, e Sl & folae & &9 7
Fefieet foram a1 €, & Wich acailg 3Teshas 54 He H1H H81|

(1) F90 (OEFA®
(2)  der () T
(3) cErES R

(4) S IR

[Question ID = 66][Question Description = Q66_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 261]
2. (2) [Option ID = 262]
3. (3) [Option ID = 263]
4. (4) [Option ID = 264]

Correct Answer :-
e (3) [Option ID = 263]



67) Short Off' in the case of 'continuous’ employees means a period of rest which is less
than hours and in the case of 'E.l! workers, less than hours.
(1) 08 /! 06
2y 09 7/ o7
3y 10 /¢ 08
(4) Nong of these

Ty AT & JF 3 '2ic JTH F1 37 § 3RH §r Fafea o e ¥
& ¢ A S 32 Farll & HiEG F, He U &

(1) 08 / 06

20 09 [/ 07

(3 10 / 08

(4) oA A RIS el

[Question ID = 67][Question Description = Q67_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 265]
2. (2) [Option ID = 266]
3. (3) [Option ID = 267]
4. (4) [Option ID = 268]

Correct Answer :-
e (3) [Option ID = 267]

68) (A) For running staff, total duty is counted from 'signing on' to 'signing off. (B) On
completing a duty of less than eight hours, running siaff are entitled to a rest of
twelve hours if they are at headquarters.

(1) Only (A) is correct
{2) Only (B) is correct
(3) Both are correct

(4) Both are incorrect

(@) Tfetar 2T & Tov, et 7 wishin 3 & |z e aF @60 s &) @) sme
HeE 3 A B SUET TU el I, UelaT T 9RE = & 3 & ghal ¢ 41 o A5y

qil
(1) ad (@FTE
(2) el () T
(3) o HeT B
4) eI g

[Question ID = 68][Question Description = Q68_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 269]
2. (2) [Option ID = 270]
3. (3) [Option ID = 271]
4. (4) [Option ID = 272]

Correct Answer :-
e (1) [Option ID = 269]



69) (A) Overtime Allowance (OTA) is paid at the rate of 1.5 times the ordinary rate of pay
for extra duty between the limits of rostered hours and statutory limits. (B) For extra
duty beyond statutary limits, OTA is paid at twice the ordinary rate of pay.

(1) Only (A) is correct
(2) Only (B) is correct
(3) Both are correct

(4) Both are incorrect

(7) SHTRETSA ol (JIENT) & HJardre (eed Fohe a1 el AR dunfds daEd & &
TR e & o Aot i T 6T F 1.5 I i X F AT e § (&) denfew
HrAmsit & 9t A sdea & fev, ST 1 aErar dda T JHea gl & g1t

O fRaT ST g1
(1) acT (V) FETE
(2) el (d) WETE
(3) oIl #Er &
@) SEtIeEag

[Question ID = 69][Question Description = Q69_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 273]
2. (2) [Option ID = 274]
3. (3) [Option ID = 275]
4. (4) [Option ID = 276]

Correct Answer :-
e (3) [Option ID = 275]

70) According to the Factories Act of 1948/1987, no adult worker shall be allowed to

work for more than hours per week or hours per day.
(1) 48 |/ 09
2y 54 | 10
3y 45 | 08
4y 72 | 12
1948/1987 & theredl 3ififeia# & 3TaR, ot ofr aa=r AfA® = 9id @eag
g ar gid fGer HeE J T8 F1 el H HFATT A81 af e
(1y 48 |/ 09
2y 54 | 10
3y 45 | 08
4y 72 | 12

[Question ID = 70][Question Description = Q70_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 277]
2. (2) [Option ID = 278]
3. (3) [Option ID = 279]
4. (4) [Option ID = 280]

Correct Answer :-
e (1) [Option ID = 277]



71) According to the Payment of Wages Act, 1936, wages should be paid on a working
day within days of the last day of the wage period in a unit having less than
one thousand workers, and by the day in bigger units.

(1) or / 10th
2y o7 /[ 14th
3 10 / 15th
(4) Nene of these

Sl HITT JTITATH, 1936 & 3R, U 5o 4 A ATHH Gl 315 7 AAGY Hl
T, daa A FATARF S R s Ak adizwsdid_ ®F
7ok HoTedl T AT fehaT ST Trfge]

(1 or |/ 109

2y or [/ 143

(3 10 / 159

(4}  None of these / =18 & FIS w51

[Question ID = 71][Question Description = Q71_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 281]
2. (2) [Option ID = 282]
3. (3) [Option ID = 283]
4. (4) [Option ID = 284]

Correct Answer :-
e (1) [Option ID = 281]
72) As per the Employees Compensation Ac{, 1823, an employer is liable to pay

compensation to his workman if he/she becomes disabled for a period of at least
days by an accident arising out of and in the course of his/her duty.

(1 3
2) 7
(3) 10
(4) 14

FHAGN HITE AU, 1923 F HR, T FAAIFAT T FAAN H {1
IATCATST adel & (1T ITRGRIT & TG g el Foied § Icdee glel aTell gueal 8 &5 °

A Tt i 3t & fow e g Aar g
(1 3
2 7
(3) 10
(4) 14

[Question ID = 72][Question Description = Q72_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 285]
2. (2) [Option ID = 286]
3. (3) [Option ID = 287]
4. (4) [Option ID = 288]

Correct Answer :-
e (1) [Option ID = 285]



73) The Railways has been defined as'a 'Public Utility Service' under the
(1) Industrials Disputes Act, 1947
(2)  Minimum Wages Act, 1948
(3) Factories Act, 1948/1987
(4) Payment of Wages Act, 1936

Tad A & TIgd AT el IUAIICT HaT o F 7 TR T = 6
(1) 3czfE e g, 1947
(2) +geIaH Adgy AfafaaH, 1948
(3) R JTSTA, 1948/1987
(4) dce AT fafage, 1936

[Question ID = 73][Question Description = Q73_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 289]
2. (2) [Option ID = 290]
3. (3) [Option ID = 291]
4. (4) [Option ID = 292]

Correct Answer :-
e (1) [Option ID = 289]

74) (A) A Railway employee on transfer may be permitted to retain his existing. railway
accommodation for four months on normal rent, and (B) further four months on
medical or educational grounds on special license fee:

(1) Only (A) is correct
(2) Only (B) is correct
(3) Both are correct

(4) Both are incorrect

(T) FAICROT 9 U {od FHai) @l SH BT I 91 Jels & [T 319+ Alogr
I01d 3TETE 1 9eIY {@el 1 AT & S Fehell 6, 3 (@) Ay wsdE ge W
Fafehear ar dfaTs Jmny 9T 3t I #de|
(1) el (W)TeTE
(2)  ohder (31 TE &
(3) e wrE
(4) cErIeds
[Question ID = 74][Question Description = Q74_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 293]
2. (2) [Option ID = 294]

3. (3) [Option ID = 295]
4. (4) [Option ID = 296]

Correct Answer :-
e (4) [Option ID = 296]



75) The family of a Railway employee who dies while in service, may be allowed to

retain the existing railway quarters for a penod of on payment of
(1 & months / normal rent
(2) 12 months / normal rent
(3) 24 months / normal rent
(4) 24 months / special license fee
U {6d SN (S TaT & ge AT S1ar §), & 9Rar @ & T T
& 3t & TeTw AlGer Yerd &Fared F1 (et & AT &1 &l Gehell 81
(1) 8¥gW [ wrEe R
(2) 127 [ e T
(3) 24 FAEET [ WA e
(4) 24HE /o TaRly oS e

[Question ID = 75][Question Description = Q75_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 297]
2. (2) [Option ID = 298]
3. (3) [Option ID = 299]
4. (4) [Option ID = 300]

Correct Answer :-
e (3) [Option ID = 299]

76) Currently, who heads the Personnel Depariment on Indian Railways?
(1} Member Staff
(2) Additional Member Staff
(3) Director General (Human Resources)
(4) None of these

ST, AR (70 3 118 [aH73T & 9HE i o7
(1) ToETHHs
(2) IR TS FAF
(3) WETHGRER (HIAd THE)
(4) SoTH & FIS 6T

[Question ID = 76][Question Description = Q76_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 301]
2. (2) [Option ID = 302]
3. (3) [Option ID = 303]
4. (4) [Option ID = 304]

Correct Answer :-
e (3) [Option ID = 303]

77) When an occupied post 1s surrendered, it shall be treated as as long as the
incumbent is not posted elsewhere.
(1) temporary
(2) excess
(3) supernumerary
(4) time-bound

SfE U 51 §U UG I IG0T (F{ST) T Sien 8, o 39 a9 HAT ST ST

T TGN & a1 AT diaTd AaT T Sl gl
(1) 3reendy
(2) HEAREa
(3) FfEaET
(4) wHIEEE

[Question ID = 77][Question Description = Q77_APO_PA_NAIRJUNE23]



(1) [Option ID = 305]
(2) [Option ID = 306]
(3) [Option ID = 307]
(4) [Option ID = 308]

A W N -

Correct Answer :-
e (3) [Option ID = 307]

78) What is the maximum number of fresh items that can be included in the agenda of a
PNM meeting in a division?

(1) 20
(2) 25
(3) 30

(4)  No limit

e Bdiad & fivaus do& & Tos & iEe &0 A1 e drel arar A1 1 ATeEae

T F7 87
(1) 20
(2) 25
(3) 30
(4) g Har A8

[Question ID = 78][Question Description = Q78_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 309]
2. (2) [Option ID = 310]
3. (3) [Option ID = 311]
4. (4) [Option ID = 312]

Correct Answer :-
e (3) [Option ID = 311]

79) ‘When newly recruited Assistant Loco Pilots join their working posts, their seniority
shall be determined by .
(1)  merit position in the RRB panel
(2) ment position after training
(3) their date of joining
(4) None of these

STe FU Il o 217 HETdeh cilehl I 390 RIS Yat 9 sl Ag0T dd &, ol
Johl aRsEAl_ GART [eiRe S

(1) RIS Toqer HART

(2) wigeToT & o f1 A

(3) Ik AT glet i Taf

(4) S H IS g

[Question ID = 79][Question Description = Q79_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 313]
2. (2) [Option ID = 314]
3. (3) [Option ID = 315]
4. (4) [Option ID = 316]

Correct Answer :-
® (2) [Option ID = 314]



80) A male Railway servant is entitled to paternity leave for a maximum period of
days during the confinement of his wife:
(1) 45
(2) 30
(3) 21
(4) 156

U TEY Yol e 379w Teall oF TEICT o G ST &t & Mgca g

T EHGR &
(1) 45
(2) 30
(3) 21
(4) 15

[Question ID = 80][Question Description = Q80_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 317]
2. (2) [Option ID = 318]
3. (3) [Option ID = 319]
4. (4) [Option ID = 320]

Correct Answer :-
® (4) [Option ID = 320]

81) Normally, a Railway servant is permitted to construct a house at a cost not

exceeding times of the basic pay, or on condition that the maximum cost of
construction is Rs 5

(1) 125 / Rs 90 Lakhs

{(2) 139 / Rs. 1 crore

(3) 150 / Rs. 1 crore

(4) None of these
3 Al I, v T FHEdl A daa & AT & 3ifEie I eETe 9 AT T
=1 3T o T g1 T AT I U R A T AT & A 8

(1) 125 / B0 v &

(2) 139 / 1FS T
(3) 150 / 13T
(4) SoIH & IS el

[Question ID = 81][Question Description = Q81_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 321]
2. (2) [Option ID = 322]
3. (3) [Option ID = 323]
4. (4) [Option ID = 324]

Correct Answer :-
® (2) [Option ID = 322]

82) A Railway employee is not eligible for seeking voluntary retirement from service

before completing years of gualifying service.
(1) 5
(2} 10
(3) 20

{(4) None of these

T {oTd FEHTNT Y & e HaT T AT & Tgel Gar § Tafeos daitgn oo

& AT g =1gT g1
(1) 5
(2)y 10
3y 20
(4) SAH WIS AL

[Question ID = 82][Question Description = Q82_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 325]



2. (2) [Option ID = 326]
3. (3) [Option ID = 327]
4. (4) [Option ID = 328]

Correct Answer :-
e (3) [Option ID = 327]

83) Currently, what is the minimum amount of family pension payable per month?
(1) 35% of basic pay of the pensioner
(2) Rs. 9000/
(3) Rs. 8000/~ or 35% of basic pay of the pensioner, whichever is more
{4) None of these

T 9l \Ig o HTNaTRh Gere i weici# 19 &1 82
(1) Rl & FeT o o 35%

(2) ¥ 9000/-
(3) % 9000/ a7 GRreTs IR & HeT dciet o1 35%, =t aff 31fei &
(4) SoIA O FIs agl

[Question ID = 83][Question Description = Q83_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 329]
2. (2) [Option ID = 330]
3. (3) [Option ID = 331]
4. (4) [Option ID = 332]

Correct Answer :-
e (2) [Option ID = 330]

84) (A) A tenure post is held by the incumbenit for a limited period. (B) A temporary post
carries a definite rate of pay and is sanctioned for a limited time.
(N Only (A) is correct
(2) Only (B) is correct
(3) Both are correct
{4) Both are incorrect

(T) Teh SFIIETEl UG Ueh Tt aTe & o/ TeemdT aaiy Jtedd fohar ol ol (31) T
SFERN UG A deis F1 U BREd & ardl b 31 HAT &5 & o Siiea el o

(1) ael (V) TETE
(2)  shaer () WY &
(3) oF e

(4) Gl ITerd &

[Question ID = 84][Question Description = Q84_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 333]
2. (2) [Option ID = 334]
3. (3) [Option ID = 335]
4. (4) [Option ID = 336]

Correct Answer :-
® (3) [Option ID = 335]



85) In normal cases, what is the minimum educational gqualification required for
recruitment to level-1 posts on Indian Railways?

(1) Class V
(2) Class VIl
(3) Class X
(4) Class XII

A TR O, TR Toid 7 T -1 & qaT 9 37l o Tolu 37aedes #g1aH dfats deaar

1?2
(1) &5
(2) FeT8
(3) w10
(4) TFET12

[Question ID = 85][Question Description = Q85_APO_PA_NAIRJUNE23]
1. (1) [Option ID = 337]
2. (2) [Option ID = 338]
3. (3) [Option ID = 339]
4. (4) [Option ID = 340]

Correct Answer :-
® (3) [Option ID = 339]

Topic:- APO_PB_NAIRJUNE23

1)  Who among the following is a famous Sitar player?
(1) Pandit Jasraj
(2) Pandit Ravi Shankar
(3} Pandit Dhannamal
(4) Ustad Amjad Ali Khan

fArafafaa & 8 i v gfiey Bar as g2
(1) dfzd sEus
(2) YizaIgeE
(3) disd ge=itAo
(4) 3TAG 3G el @il
[Question ID = 86][Question Description = Q01_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 341]
2. (2) [Option ID = 342]

3. (3) [Option ID = 343]
4. (4) [Option ID = 344]

Correct Answer :-
e (2) [Option ID = 342]

2) Which of these cricket teams was the newest in IPL Championship 20237
(1) Pune Warriors
(2) Gujarat Titans
(3) Rajasthan Royals
(4) Sunrisers Hyderabad

Fgdioer AR 2023 F 5o @ i ) e S5 gad a2 o
(1) goraria
(2) TS BT
(3) TR Uaed

(4) TS geXEg

[Question ID = 87][Question Description = Q02_APO_PB_NAIRJUNE23]



(1) [Option ID = 345]
(2) [Option ID = 346]
(3) [Option ID = 347]
(4) [Option ID = 348]

A W N -

Correct Answer :-
e (2) [Option ID = 346]
3) What is the full form of MSP?
(1) Minimum Support Price
(2)  Minimum Support Program
(3) Marginal Support Price
(4) Marginal Support Policy

THUHT &7 97 T F47 a1l 62
(1) TgeiaH §HH He
(2) FgeTaH BHUA FIRAHH
(3) EHAT FALA Hed
(4) AT T A

[Question ID = 88][Question Description = Q03_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 349]
2. (2) [Option ID = 350]
3. (3) [Option ID = 351]
4. (4) [Option ID = 352]

Correct Answer :-
e (1) [Option ID = 349]

4) What are Tsunamis caused by?
(1) Mixing of cold and warm ocean currents
(2) Earthguake
(3) Changes in sea level
(4) Volcanic eruption

YeATHY Tehdrds HIROT Rlch g2
(1) &31 3R I AR gRIST & fFels
(2) HFT

(3) @Hg aw A G
(4) e & faERe

[Question ID = 89][Question Description = Q04_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 353]
2. (2) [Option ID = 354]
3. (3) [Option ID = 355]
4. (4) [Option ID = 356]

Correct Answer :-
® (2) [Option ID = 354]



5) When atmospheric gases trap heat and keep the earth warm, what does it lead to?
(1) Green House Effect
(2)  Air Quality Index
(3) Deforestation
(4) Depletion of ozone

STel ARIASTN I8 FEHT 2l ek Sl & 31T T2 1 I8 T@eil §, O S| F1 g g7

(1) elgrag werna

(2) Org IOTET FIFT
(3) HderRIoT

(4)  3ISileT %1 &ROT

[Question ID = 90][Question Description = Q05_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 357]
2. (2) [Option ID = 358]
3. (3) [Option ID = 359]
4. (4) [Option ID = 360]

Correct Answer :-
e (1) [Option ID = 357]

6) Who was the creator of the famous cartoon character known as The Commaon Man'
in The Times of India?
(1) RKLaxman
{(2) Shankar
(3} Mario
{4) RK Narayan

TSI 3T S5 7 G FIAA HeT o A O A6 FIC TIRA & TaeAIhR Hie o2
(1) 31X & eaaor
(2) e
(3) wRAr
(4) 3T & AR

[Question ID = 91][Question Description = Q06_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 361]
2. (2) [Option ID = 362]
3. (3) [Option ID = 363]
4. (4) [Option ID = 364]

Correct Answer :-
e (1) [Option ID = 361]

7) Which of these is displayed in the logo of the World Wildlife Fund?
(1) Red Panda
(2) Giant Panda
(3) Dolphin
(4) Elephant

=8 O fond 12T g=geiia Iy & sl 7 ygidla frar arar §2

(1) et 9isr

(2) TSRITeERI YISt
(3) sifewar

(4) el

[Question ID = 92][Question Description = Q07_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 365]
2. (2) [Option ID = 366]
3. (3) [Option ID = 367]
4. (4) [Option ID = 368]



Correct Answer :-
e (2) [Option ID = 366]

8) In which city of South Africa, was Mahatma Gandhi physically assaulted and thrown
off the pavement by white people?
(1) Cape Town
(2) Durban
(3) Johannesburg
(4) Pretona

aiator anhiET & TR et A, N ARl e@rT AglcAT el oX iR Har fanar I
1Y Beare ¥ G ¢ a1 J-?

(1) FgeEd
(2) STE

(3) SilgrTaaaT
(4) T

[Question ID = 93][Question Description = Q08_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 369]
2. (2) [Option ID = 370]
3. (3) [Option ID = 371]
4. (4) [Option ID = 372]

Correct Answer :-
® (2) [Option ID = 370]

9) In which session of the Indian National Congress was the pledge for "Pooma
Swaraj" taken?

(1) Kolkata
(2) Lahore
(3) Allahabad
(4) Madras

ST ISET i & fora arferarerst #F "quT Taarsr &1 erer o a1$ ofr?

(1) FieEr
(2) el
(3) gelgrEg
(4) g

[Question ID = 94][Question Description = Q09_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 373]
2. (2) [Option ID = 374]
3. (3) [Option ID = 375]
4. (4) [Option ID = 376]

Correct Answer :-
e (2) [Option ID = 374]

10) Who gave the slogan “Ingilab Zindabad™?
(1) Chandrashekhar Azad
(2) Subhash Chandra Bose
{(3) Bhagat Singh
(4) Igbal

"SHETS ToiGEIG" o ART el fear or?
(1) FEdEL 3G
2 FwEERaE
(3) &era g
(4) sEdErRT



[Question ID = 95][Question Description = Q10_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 377]
2. (2) [Option ID = 378]
3. (3) [Option ID = 379]
4. (4) [Option ID = 380]

Correct Answer :-
® (3) [Option ID = 379]

11)  Which of these is the highest sporting honour of India?
(1) Anuna Award
(2) Major Dhyan Chand Khel Ratna Award
(3) Dronacharya Award
(4) None of these

2518 § hieT T AT 1 Gaieg Tl G g7
(1) 3oHT R
(2) HAS AETEE Wel ol [WERR
(3) TIUTERE [WERT
(4) SIHHFG AR

[Question ID = 96][Question Description = Q11_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 381]
2. (2) [Option ID = 382]
3. (3) [Option ID = 383]
4. (4) [Option ID = 384]

Correct Answer :-
® (2) [Option ID = 382]

12) Who is regarded as the pioneer of atomic energy in India?
(1) AP JAbdul Kalam
(2) HomidJ Bhabha
(3) Raja Ramanna
(4) Homi Sethna

I 3 TEAT] St 1 33reg fohd ST Siell 672
(1) wdT ol g Hel

(2) TS s
(3) TSI el
(4) B Toar

[Question ID = 97][Question Description = Q12_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 385]
2. (2) [Option ID = 386]
3. (3) [Option ID = 387]
4. (4) [Option ID = 388]

Correct Answer :-
® (2) [Option ID = 386]



13) Afinancial emergency can be declared in the country under which of these articles?
(1) Article 360
(2) Article 361
(3) Article 370
(4) Article 371

goT9 § T Aeeie o e 31 3 19w 3191 et S foram o ear 67

(1) 3feTesg 360
(2) 3e[eesG 361
(3) 3elEde 370
(4) 3efeesg 371

[Question ID = 98][Question Description = Q13_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 389]
2. (2) [Option ID = 390]
3. (3) [Option ID = 391]
4. (4) [Option ID = 392]

Correct Answer :-
e (1) [Option ID = 389]
14) Which of these is the highest literary award in India?

(1) Kalidas Samman

(Z) Saraswatl Samman

(3) Sahitya Akademi Award

{4) Jnanpith Award

So1¥ B FleT TT AR H Fafod aifefoas TR 82
(1) wIfcieRT T
(2) T GFEATE
(3) wITE G TR
(4) TS TWERR

[Question ID = 99][Question Description = Q14_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 393]
2. (2) [Option ID = 394]
3. (3) [Option ID = 395]
4. (4) [Option ID = 396]

Correct Answer :-
e (4) [Option ID = 396]
15) Who is authorised to grant the citizenship of India to an applicant?

(1) The President of India

(2) The Prime Minister of India

(3) The Ministry of Home Affairs

(4)  The Ministry of External Affairs

T 3G &1 $TR I AT TaTe &l & [oT @i 3feed 872

(1) #Rd & sgufd
(2) HRT F T HAT
(3) g HAWT

(4) gz FaeE

[Question ID = 100][Question Description = Q15_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 397]
2. (2) [Option ID = 398]
3. (3) [Option ID = 399]
4. (4) [Option ID = 400]

Correct Answer :-



e (3) [Option ID = 399]
16) What is the masimum strength of the Rajya Sabha?

(1) 200 members

(2) 235 members

(3) 240 members

{4y 250 members

T qT 1 AfEFaH & fhde gidl 872
(1) 200 HeH
(2) 235WcHy
(3) 240¥cH
(4) 250HcHT

[Question ID = 101][Question Description = Q16_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 401]
2. (2) [Option ID = 402]
3. (3) [Option ID = 403]
4. (4) [Option ID = 404]

Correct Answer :-
® (4) [Option ID = 404]
17)  Which of the following countries has the longest intemational boundary with India?

(1) Bangladesh

(2) Bhutan

(3) China

(4) Pakistan

foratof@a & O O ger 61 5T o arer gad ol 3iaUser WAt 52

(1) Sienger
(2) gt

(3) o

(4) IiHEIE

[Question ID = 102][Question Description = Q17_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 405]
2. (2) [Option ID = 406]
3. (3) [Option ID = 407]
4. (4) [Option ID = 408]

Correct Answer :-
e (1) [Option ID = 405]
18) 'Which of the following states is a part of the ‘Seven Sisters'?

(1) Woesi Bengal

(2) Tripura

(3) Odisha
(4) Bihar

F=TeiEa J T Fi9 o U7 9a 9gar 1 o g?
(1) ofREs damer
2) B
(3) Nz
(4) TR

[Question ID = 103][Question Description = Q18_APO_PB_NAIRJUNE23]

1. (1) [Option ID = 409]
2. (2) [Option ID = 410]
3. (3) [Option ID = 411]
4. (4) [Option ID = 412]



Correct Answer :-
® (2) [Option ID = 410]

19) What is the Dhola-Sadiya Bridge in Assam, famous for?
(1) It is the longest rail-cum-road bridge built by RITES
(2) It is the longest road bridge in India
(3) It is the first eighi-lane bridge In India:
(4)  Allthese

A # arer-wicar 9ol foh foiu widey g2

(1)  ¥g UscH canl AT §a¥ oisT {o-Hg-4s% Jol ¢

(2) Tg IR F HSH o HeF I o

(3) TG I T Tgell TS oiel & Yol §

(4) Jgdd
[Question ID = 104][Question Description = Q19_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 413]
2. (2) [Option ID = 414]

3. (3) [Option ID = 415]
4. (4) [Option ID = 416]

Correct Answer :-
e (2) [Option ID = 414]
20) Which of these organizations was jointly formed by Afghanistan, Bangladesh,

Bhutan, India, Maldives, Nepal, Pakistan and Sri-Lanka?

(1)  ASEAN
(2) BRICS
(3) SCO

(4) SAARC

o8 o FleT T 0T ITHAMTeTEcllsl, SEAG, LT, AR ATAGH, FdTel, TIieheclst
3R Areiet @ FgFd T H TR IAT 2AT?

(1)  3nEae

(2) Tww

(3)  oTETS TR GG
(4) WH

[Question ID = 105][Question Description = Q20_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 417]
2. (2) [Option ID = 418]
3. (3) [Option ID = 419]
4. (4) [Option ID = 420]

Correct Answer :-

& (4) [Option ID = 420]

21)  In which year did the Salt Satyagraha take place?

(1) 1929
(2) 1930
(3) 1931
(4) 1932
wTHE HCATAg T Ty g3 A2
(1) 1929
(2) 1930
(3) 1931
(4) 1932

[Question ID = 106][Question Description = Q21_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 421]



2. (2) [Option ID = 422]
3. (3) [Option ID = 423]
4. (4) [Option ID = 424]

Correct Answer :-
® (2) [Option ID = 422]

22) The famous Kohinoor diamond was produced from one of the mines located in
which of these regions?
(1) Odisha
(2} Chhota Nagpur
(3) Bijapur

(4) Golconda
SRAGH gl ST ST O T et & v @il 3 U & 3 o4r?
(1) 3NfEem
(2) Wer AL
(3) =R
(4) FirordsT

[Question ID = 107][Question Description = Q22_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 425]
2. (2) [Option ID = 426]
3. (3) [Option ID = 427]
4. (4) [Option ID = 428]

Correct Answer :-
e (4) [Option ID = 428]
23) Who wrote the famous patriotic song - "Sare Jahaan se Achcha”?

(1) Mohammad |gbal

(2) Ssarojini Naidu

(3) Bankim Chandra Chattopadhyay

{4y Firdaus

gidee saifara g - "an sigl § e faae forar ar?
(1) HIgHAG Seharel

(2) WS ag
(3) dfeha Og gecarEdyg
(4) TG

[Question ID = 108][Question Description = Q23_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 429]
2. (2) [Option ID = 430]
3. (3) [Option ID = 431]
4. (4) [Option ID = 432]

Correct Answer :-
e (1) [Option ID = 429]



24) Where did the famous Kuchipudi Indian classical dance originate?
(1) Andhra Pradesh
(2) Kamataka
(3) Kerala
(4) Tamilnadu

qiieEr SIS AN ARHRT e &1 Sied Tl G311 212

(1) 3T vger
(2) ellew
(3) o

(4) difAw=g

[Question ID = 109][Question Description = Q24_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 433]
2. (2) [Option ID = 434]
3. (3) [Option ID = 435]
4. (4) [Option ID = 436]

Correct Answer :-
e (1) [Option ID = 433]
25) Who was the first British Governor General of Bengal?

(1) Robert Clive

(2) Warren Hastings

(3)  William Bentinck

(4) Comwallis

STl T 9UH TS0 ITaei ot hia 27 ?

(1) e Frsa
(2) aRA BRI
(3) TafegadiTs
(4) hiearod

[Question ID = 110][Question Description = Q25_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 437]
2. (2) [Option ID = 438]
3. (3) [Option ID = 439]
4. (4) [Option ID = 440]

Correct Answer :-
e (2) [Option ID = 438]
26) \What is the capital of Belgium?

(1) Sofia

(2) Rotterdam

(3) Brussels

(4) The Hague

STeara &1 TaTereil &1 £2
(1) SR
(2) UesH
(3) s
4) ggar

[Question ID = 111][Question Description = Q26_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 441]
2. (2) [Option ID = 442]
3. (3) [Option ID = 443]
4. (4) [Option ID = 444]

Correct Answer :-



e (3) [Option ID = 443]

27) Which country did Kylian Mbappe represent in the last FIFA World Cup

championship?
(1) France
(2) Brazil
(3y Spain

(4) Argentina
el o faeg T STa=TET 7 TR oas vy & 5y g &1 aa At fGar are

(1) wF
(2) sfster
(3) T
(4)  FSACEN

[Question ID = 112][Question Description = Q27_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 445]
2. (2) [Option ID = 446]
3. (3) [Option ID = 447]
4. (4) [Option ID = 448]

Correct Answer :-
e (1) [Option ID = 445]
28) Which Indian poet is also known as the "Shakespeare of India"?

(1) Tulsidas

(2) Kamba
(3) Rabindra Nath Tagore
(4) Kalidas

TR ST 1d 1 "R &7 e 3 agr oran g2

(1) qerdier

(2) &

(3) IewEATY BT
(4) ricier

[Question ID = 113][Question Description = Q28_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 449]
2. (2) [Option ID = 450]
3. (3) [Option ID = 451]
4. (4) [Option ID = 452]

Correct Answer :-
e (4) [Option ID = 452]

29) The highest mountain peak of the Himalayas is situated in:

(1) India
(2) Tibet
(3) Nepal
(4) China
TeaTerT T T S0 7ag 9ieT T8t T &
(1) #oRd
2) fa=aa
(3) oarer
4) ==

[Question ID = 114][Question Description = Q29_APO_PB_NAIRJUNE23]

1. (1) [Option ID = 453]
2. (2) [Option ID = 454]



3. (3) [Option ID = 455]
4. (4) [Option ID = 456]

Correct Answer :-
® (3) [Option ID = 455]

30) Mahatma Gandhi gave the famous slogan, "Do or Die” to the Nation, on the eve of

which mass movement?
(1) Rowlatt Satyagraha
(2) Salt Satyagraha
(3) Quit India Movement
(4) Non-Cooperation Movement

FRTcAT A7t oF ThE e aTiaIereT 1 9 TeaT O TS 1 IRAGH o, "R A FR A
aMm?

(1) e g

(2) EF TN

(3) oA BIE! AT

(4) 3T FHigrer

[Question ID = 115][Question Description = Q30_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 457]
2. (2) [Option ID = 458]
3. (3) [Option ID = 459]
4. (4) [Option ID = 460]

Correct Answer :-
e (3) [Option ID = 459]

31) Where are the headguarters of the International Olympic Committee located?
(1) ltaly
(2) Switzerland
(3) Belgium
(4) Greece

FHOOSEI 3iTeiTas WA &1 FEarerd Fl 0 672

(1) seor

(2) Faeres
(3) dfeaaH
(4)

[Question ID = 116][Question Description = Q31_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 461]
2. (2) [Option ID = 462]
3. (3) [Option ID = 463]
4. (4) [Option ID = 464]

Correct Answer :-
e (2) [Option ID = 462]



32) The Agha Khan Cup is related to which sport?
(1) Cricket

(2) Hockey
(3) Table tennis
(4) Football
I G F9 g @ ¥ gafaa §?
(1) Tbhe
) @i
(3) cauclg
(4) peard

[Question ID = 117][Question Description = Q32_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 465]
2. (2) [Option ID = 466]
3. (3) [Option ID = 467]
4. (4) [Option ID = 468]

Correct Answer :-
e (2) [Option ID = 466]
33) The first Vande Bharat Express in the Northeast - inaugurated by the PM in May
2023 - connects which of the following two stations?
(1) Guwahati and New Delhi
(2) Siliguri and Guwahati
(3) Guwahati and Jalpaiguri
(4) Guwahati and New Jalpaiguri

gafat &1 el d¢ HRd AN - S A5 2023 H GUEHAT g@ll SgHE
R s - rsfef@a # & & & £t & Sisdr 82

(1) TEEEr 3R =S e

(2) TS 7Y apargrer

(3) IERE 3R SerTSIE

(4) IETRTEr 3+, SeTIIEY

[Question ID = 118][Question Description = Q33_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 469]
2. (2) [Option ID = 470]
3. (3) [Option ID = 471]
4. (4) [Option ID = 472]

Correct Answer :-
e (4) [Option ID = 472]
34) Who is the current Chairman of ISRO?

(1) K Radhakrishnan

(2) S. Kiran Kumar

(3) Dr. K. Sivan

(4) None of these

SE & SOHI 3Tege] e 87
(1) = TrITHsoT
(2) U RO FAR
(3) =f & fMREe
(4) ZeTH HPIS QT
[Question ID = 119][Question Description = Q34_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 473]

2. (2) [Option ID = 474]
3. (3) [Option ID = 475]



4. (4) [Option ID = 476]

Correct Answer :-
e (4) [Option ID = 476]
35) Who is the current chairman of NITI Aayeg?

(1}  Narendra Modi

(2) Amit Shah

(3) Amitabh Kant

(4) Nifin Gadkari

Sfer FATIaT o Tt 3TEwaT HieT 2
(1) g A
(2) fEATaE
(3) IfFATETFG
(4) WET IR0

[Question ID = 120][Question Description = Q35_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 477]
2. (2) [Option ID = 478]
3. (3) [Option ID = 479]
4. (4) [Option ID = 480]

Correct Answer :-
e (1) [Option ID = 477]

36) ‘When did the Goods and Services Tax Act come into effect?

(1) 2016
(2) 2017
(3) 2018
(4) None of these
T T AT A ST TAT3 e I ] g2
(1) 2016
(2) 2017
(3) 2018
(4) ST G HIS AL

[Question ID = 121][Question Description = Q36_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 481]
2. (2) [Option ID = 482]
3. (3) [Option ID = 483]
4. (4) [Option ID = 484]

Correct Answer :-
® (2) [Option ID = 482]

37) If the President of India wants to resign from office, who should the resignation be

addressed to?
(1) Vice President of India
(2) Chief Justice of India
(3) Prnme Minister of India
(4) Speaker of Lok Sabha

Afe AR & TSLUT UG & SENH ST Tigc &, of ST b geifeg fear smer

Tq1fge?
(1) TR & IR
(2) WA & HTT warneier
(3) R & g #HAr
(4) iHET U]



[Question ID = 122][Question Description = Q37_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 485]
2. (2) [Option ID = 486]
3. (3) [Option ID = 487]
4. (4) [Option ID = 488]

Correct Answer :-
e (1) [Option ID = 485]
38) Which of the following is no longer a Fundamental Right?

(1) Right to Freedom '

(2) Right to freedom of religion

(3) Rightio property

{4) Right to equality

PrAa @ F O @l o1 39 \ifes 3R a8 82
(1) Tadadr = AEFER
(2) o i T T T
(3) Ui = 3fer
(4) THETAr & AEHER

[Question ID = 123][Question Description = Q38_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 489]
2. (2) [Option ID = 490]
3. (3) [Option ID = 491]
4. (4) [Option ID = 492]

Correct Answer :-
e (3) [Option ID = 491]
39) Who administers the oath of office to the Prime Minister of India?

(1)  Chief Justice of India

(2) President of India

(3) Speakerof Lok Sabha

(4) None of these

HT & FEIHAT I 9g oy 29 i feamar g2
(1) #IRd & HTT =amrier

(2) 9RTF TS
(3) CRGHT 3R]
(4) Z1H U FIS FEI

[Question ID = 124][Question Description = Q39_APO_PB_NAIRJUNE23]

1. (1) [Option ID = 493]
2. (2) [Option ID = 494]
3. (3) [Option ID = 495]
4. (4) [Option ID = 496]

Correct Answer :-
e (2) [Option ID = 494]



40) Which of the following states do not share boundaries with each other?
(1) Rajasthan and Punjab
(2) Bihar and Jharkhand
(3) Meghalaya and Maripur
(4) Delhi and Haryana

fArfaf@d & & Sl & Uo7 v gl & Trer ST T 761 #4872
(1) Toreene 3R oo

(2) faER 3R =S
(3) ETerR AT AL
(4) T 3T g

[Question ID = 125][Question Description = Q40_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 497]
2. (2) [Option ID = 498]
3. (3) [Option ID = 499]
4. (4) [Option ID = 500]

Correct Answer :-
e (3) [Option ID = 499]
41) As per the Official Languages Act 1963, what does Hindi mean?

(1) Hindi in any script

(2) Hindi in Roman script

(3) Hindi in Devanagari script

{4) None of these

ST ITTEIeEeT 1963 & AR ecl 7 Fojerd T4 52
(1) Terelt ol fOrf 31 T
(2) Ta= f&md R
(3) CawerT W # Redr
(4) SoH W HIS el

[Question ID = 126][Question Description = Q41_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 501]
2. (2) [Option ID = 502]
3. (3) [Option ID = 503]
4. (4) [Option ID = 504]

Correct Answer :-
e (3) [Option ID = 503]
42) The Staff of a Central Government office shall ordinarily be deemed fo have
acquired a working knowledge of Hindi if ..______. % of the staff working therein have
acquired such knowledge.
(1) 33
(2) 66
(3) 75
(4) 80

F5 TIHR & FIRTET & FHAIAT I FHAT 9T GG b1 FIRETR 7T 95T el arem
HEAT AN I . % SHATTTAT = UHT AT 9o & fam 81

(1) 33
(2) 66
3) 75
(4) 80

[Question ID = 127][Question Description = Q42_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 505]
2. (2) [Option ID = 506]
3. (3) [Option ID = 507]
4. (4) [Option ID = 508]



Correct Answer :-
e (4) [Option ID = 508]
43) Passing the 'Pragya’ examination {(conducted under the Hindi Teaching Scheme of
the Central Government) makes an employee N
(1) proficient in Hindi
(2) having working knowledge of Hindi
(3) competent to teach Hindi to government employees

(4) All of these

IAT THET (Fhe, BLER & fedr R1aTor Jisi=n & dgd 3o T8 S § U SO
gramargl

(1) TR Fe
(2) &&= FrEEnerE A W@ arer

(3) TIHHT FETTRAT F Ear [HaEe 7 gaH
{4y  All of these

[Question ID = 128][Question Description = Q43_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 509]
2. (2) [Option ID = 510]
3. (3) [Option ID = 511]
4. (4) [Option ID = 512]

Correct Answer :-
e (2) [Option ID = 510]

44) As per the Official Languages Act 1963, Region B does not include which one of the
following?
(1) Punjab
(2} Andaman & Nicobar
(3) Maharashtra
(4) Gujarat

TST3TST SO 1963 & AR, &1 B 3 518 § Siel & ATHHe o161 672

(1) deE
() 3zH 3R PeER
(3) HERIST

(4) e

[Question ID = 129][Question Description = Q44_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 513]
2. (2) [Option ID = 514]
3. (3) [Option ID = 515]
4. (4) [Option ID = 516]

Correct Answer :-
® (2) [Option ID = 514]



45) What does Rule 3(3) of the Official Languages Act, 1963 specify?

(1) Al least 50% resolutions, general orders, rules, notifications, agreements,
administrative and other reports or press communications etc should be
published bilingually.

(2) All resolutions, general orders, rules, notifications, agreemenis.
administrative and other reports or press communications eic should be
published bilingually.

(3) At least 33% resolutions, general orders, rules, notifications, agreements,
administrative and other reporis or press communications eic should be
published bilingually.

(4) None of these

rerseT HfefAaeT, 1963 &1 2T 3 (3) F47 Fadl 2

(1) & U F 50% TFeT, T G, Had, stagg=me, Fsia, w=mafEs
I 317y R ar 9 HUR 3178 fasmdt &9 § YeriRid fe o =@l

(2) @l Hheu, FARY NG, 90, AEHE=d, gagila, gt iR 3T
Rate a7 93 Far 3ne gfaems w7 @ gwiidla fhr o= anfewg

(3) T FH 33% They, T A, FAga, sfdggand, westa, wmafas
HR 30y ROIE 1 9y HaR 311G giasnd ©9 ¥ yiiia o ot arfgul

(4) AT HIS AL

[Question ID = 130][Question Description = Q45_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 517]
2. (2) [Option ID = 518]
3. (3) [Option ID = 519]
4. (4) [Option ID = 520]

Correct Answer :-
e (2) [Option ID = 518]
46) Which is the nodal Ministry/Department for implementation of the Official Languages
Act 19637
(1) Department of Personne! & Training
(2) Minisiry of Home Affairs
(3) Ministry of Social Justice and Empowerment
(4) Ministry of Education

TreTeTeT FTETHTH 1963 & FTwada & o0 Wl Harera/ faammer g arge
(1) 8T g giRiaTer fFemr
(2) 3@ HAeT
(3) G =g I A TEHTRAT HAAT
(4)  TRrem A=A

[Question ID = 131][Question Description = Q46_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 521]
2. (2) [Option ID = 522]
3. (3) [Option ID = 523]
4. (4) [Option ID = 524]

Correct Answer :-
® (2) [Option ID = 522]



47) According to which provision replies to correspondence in Hindi must be sent in
Hindi by offices of the Central Government?
(1)  Rule 5 of Official Language Rules 1976
(2} Rule 5 of Rajbhasha Adhiniyam 1963
(3) Article 340 of the Constitution
(4)  None of these

Tore ST & 3T AR TG SR & el GaRT fedr & TR & 3 fEdr 7 o

Sret Frfgu?
(1) TrorsmT fuer 1076 & [Haa 5
(2) Yo FfAfETE 1963 & f@9a 5
(3) faemsT #7 310G 340
(4) =T H IS gl

[Question ID = 132][Question Description = Q47_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 525]
2. (2) [Option ID = 526]
3. (3) [Option ID = 527]
4. (4) [Option ID = 528]

Correct Answer :-
e (1) [Option ID = 525]
48) Which Article of the Constitution gives Hindi the status of Rajbhasha of the Nation?

(1}  Article 341

(2) Article 343

(3) Article 343(1)

(4) Adrticle 343(3)

et 1 ohlel T 3feTeese; TRET ol s o1 ISTHTST 1 gofl Gl 67

(1) 30Tete 341
(2) 3TI0G 343

(3) 3IEiG 343(1)
(4) 3eTeeiG 343(3)

[Question ID = 133][Question Description = Q48_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 529]
2. (2) [Option ID = 530]
3. (3) [Option ID = 531]
4. (4) [Option ID = 532]

Correct Answer :-
e (3) [Option ID = 531]
49) Whao presides over the meeting of the Central Hindi Samiti?

(1)  Union Home Minister

(2) Minister of State for Home

(3) Prime Minister

(4) None of these

i Bl afafe $r dos Fr reuetar fid Fare?

(1) A e HAl
(2) TETTHA
(3) e HA

(4) geTH T Pl AR

[Question ID = 134][Question Description = Q49_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 533]
2. (2) [Option ID = 534]



3. (3) [Option ID = 535]
4. (4) [Option ID = 536]

Correct Answer :-
e (3) [Option ID = 535]
50)  As per Rule 12 of the Official Languages Rules, 1976, who is responsible for the
implementation of the official language policy in the office?

(1) Rajbhasha Adhikari

(2} Head of the office

(3) Departmental Head

(4) None of these

JTSIST T 1976 & [oi2ra 12 & S8R Hierd 3 Ut lid & Fdieade & foru

e TR 872
(1) JreremsT FTEH
(2) R & 9HE
(3) faamia vga
(4) SeTH § FIS LGS

[Question ID = 135][Question Description = Q50_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 537]
2. (2) [Option ID = 538]
3. (3) [Option ID = 539]
4. (4) [Option ID = 540]

Correct Answer :-
e (2) [Option ID = 538]
51)  Which ministry is responsible for deciding policies pertaining to Official Language?

(1)  Ministry of Personnel

(2) Ministry of Home Affairs

(3) Ministry of Education

(4) Ministry of Cultural Affairs

AT & Hafee ST o S F T Sl a1 #ae e &2

(1)  FIHS JAAeT
(2) g HATAd
(3) e HAFeT

(4)  WIEFicrR AT & FHATET

[Question ID = 136][Question Description = Q51_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 541]
2. (2) [Option ID = 542]
3. (3) [Option ID = 543]
4. (4) [Option ID = 544]

Correct Answer :-
e (2) [Option ID = 542]



52) On which date did the Constitution accept Hindi as the official language of the
Union?
(1) September 14, 1949
(2) January 10, 1949
(3)  August 15, 1947
(4)  January 26, 1950

Afaene & TGer 1 gg By gorHnT & &9 7 fohg A < e B
(1) 14 f@dsy, 1940
(2) 10 STeTadT, 1949
(3) 15379184, 1947
(4) 26 Stetadl, 1950

[Question ID = 137][Question Description = Q52_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 545]
2. (2) [Option ID = 546]
3. (3) [Option ID = 547]
4. (4) [Option ID = 548]

Correct Answer :-
e (1) [Option ID = 545]
53) Weorld Hindi Day is celebrated every year on which date?

(1) September 14

(2) January 10

(3} August 15

(4) January 26

Taea fgdr feaw wigay o AT =1 \am Smar g2

(1) 14 R@asT
(2) 10 SFad
(3) 15 30@Rd
(4) 26 F=ad

[Question ID = 138][Question Description = Q53_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 549]
2. (2) [Option ID = 550]
3. (3) [Option ID = 551]
4. (4) [Option ID = 552]

Correct Answer :-
e (2) [Option ID = 550]
54) Where are the Official Language Rules, 1976 not applicable?

(1) Tamilnadu

(2) Kashmir

(3) Andaman & Nicobar

(4) Northeast Region

TSI 5159, 1976 gl #19] 16l il 62

(1) dffeETs

(2) ¥R

(3) 3zHE 3R HelEr
(4) AT a

[Question ID = 139][Question Description = Q54_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 553]
2. (2) [Option ID = 554]
3. (3) [Option ID = 555]
4. (4) [Option ID = 556]



Correct Answer :-
e (1) [Option ID = 553]

55) As per the Official Languages Act 1963, Region ‘C’ does not include which one of
the following?
(1) Andaman & Nicobar
(2) Maharashira
(3) Gujarat
(4) All of these

TTST3ITST HTOTeIaa 1963 & AN, ‘I &7 A o | hiol T AT 7761 67
(1) 3=A AR HHEr

(2) HgRISC
(3) IR
(4) TJgad

[Question ID = 140][Question Description = Q55_APO_PB_NAIRJUNE23]
1. (1) [Option ID = 557]
2. (2) [Option ID = 558]
3. (3) [Option ID = 559]
4. (4) [Option ID = 560]

Correct Answer :-
® (4) [Option ID = 560]

Topic:- APO_PC_NAIRJUNE23

1) Which of the following are needed for the preparation of salary bills of Railway
employees?
(1) Memorandum of differences
(2) Rentrolls
(3) Absentee statement
(4) All of these

Lorg FROET & dad [9et & oy & o Teatof@a &  fGradr smogsar g2
(1) 3T AT

(2) T faavor
(3) Tl Mazor
(4) TgHd

[Question ID = 141][Question Description = Q01_APO_PC_NAIRJUNE23]
1. (1) [Option ID = 561]
2. (2) [Option ID = 562]
3. (3) [Option ID = 563]
4. (4) [Option ID = 564]

Correct Answer :-
® (4) [Option ID = 564]



2) When was 1st July introduced as the uniform date of annual increment of wages for
Railway employees?
(1) Aifter the fifth CPC
(2) Aifter the sixth CPC
(3) After the seventh CPC
(4) Nong of these

1 S[eTS 1 {oTd et & [T 3o &1 arffes gera H1 T A i FFT A Fa §
9 H el I

(1) 9igd har deist IR & &l

(2) ©& G dcel HRAT & dG

(3) ETAd FA dctel AT F TG,

(4) EAHAFS AN

[Question ID = 142][Question Description = Q02_APO_PC_NAIRJUNE23]
1. (1) [Option ID = 565]
2. (2) [Option ID = 566]
3. (3) [Option ID = 567]
4. (4) [Option ID = 568]

Correct Answer :-
e (2) [Option ID = 566]
3) Faor the month of March, the salary of Railway employees whose wage period is a
calendar month, shall be paid on
(1) last working day of March
(2) first working day of April
(3) Apnl 1st

(4) None of these
A & S T, Yo SRt @ A Tand dae 3af u st A ¥ @
i S S A = 2 e

(1) # R fOE F Gaw

(2) 379 &7 ggen F fogw

(3) 138

(4) SAHHFS TG

[Question ID = 143][Question Description = Q03_APO_PC_NAIRJUNE23]
1. (1) [Option ID = 569]
2. (2) [Option ID = 570]
3. (3) [Option ID = 571]
4. (4) [Option ID = 572]

Correct Answer :-
® (2) [Option ID = 570]

4)  Which of the following deductions is not permissible from subsistence allowance?
(1) Income tax
(2) House rent
(3) Siores debiis
(4) Mone of these

T 7 & wler dr el et star 8 wea a161 < o Tl 82

(1) T

(2) FE
(3) TRsRe

(4) S H WIS TR0

[Question ID = 144][Question Description = Q04_APO_PC_NAIRJUNE23]



(1) [Option ID = 573]
(2) [Option ID = 574]
(3) [Option ID = 575]
(4) [Option ID = 576]

A W N -

Correct Answer :-
e (4) [Option ID = 576]

5) Anaudit inspection report comprises of
{1) only one part
(2) two paris
(3) three paris
(4) four parts

TR o@T TIET HEToT Rute 7 LI
(1)  hdel T {1
(2) ar#Er
(3) = fRer
(4) TR AT

[Question ID = 145][Question Description = Q05_APO_PC_NAIRJUNE23]
1. (1) [Option ID = 577]
2. (2) [Option ID = 578]
3. (3) [Option ID = 579]
4. (4) [Option ID = 580]

Correct Answer :-
e (2) [Option ID = 578]
6) 15 a statement of estimated annual receipts and expenditure either on
capital account or revenue account.
(1) Revised estimate
(2) August review
(3) Final modification
(4) Budget

it Wit AT TS Wich O HeATTeiel arteh qricaan 31T 2= &1 faaor 7
(1) €= Fegae

(2) 3R GHRT
(3) 3fgaasius
(4) woic

[Question ID = 146][Question Description = Q06_APO_PC_NAIRJUNE23]
1. (1) [Option ID = 581]
2. (2) [Option ID = 582]
3. (3) [Option ID = 583]
4. (4) [Option ID = 584]

Correct Answer :-
e (4) [Option ID = 584]



7) The proposed annual expenditure included in the budget, may be either or

(1) Sanctioned i modified
{2) voted ! charged
(3) voted / modified
4 sanctioned / charged

Tolc § oNffe YEaiad @i =22, ar ar Ir B g&ar Bl

(1) e [ aEiiEd
(2) wEmRa I geRa
(3) wEERed [ aifE
(4) Eira / FENIEG

[Question ID = 147][Question Description = Q07_APO_PC_NAIRJUNE23]
1. (1) [Option ID = 585]
2. (2) [Option ID = 586]
3. (3) [Option ID = 587]
4. (4) [Option ID = 588]

Correct Answer :-
e (2) [Option ID = 586]
8) The transfer of funds originally allotted for expenditure on a specific objective for
another objective, is called
(1) reclassification
(2) reappropnation
(3) revised allocation
{4) None of these

el w7 & fordll 370 360%T & T vs RfEne 386ea W ey & fov andfeq o= &1
FECIT, gl & |

(1) geastisor

(2) yafafesE
(3)  Heifead smdes
(4) A Y HIS G

[Question ID = 148][Question Description = Q08_APO_PC_NAIRJUNE23]
1. (1) [Option ID = 589]
2. (2) [Option ID = 590]
3. (3) [Option ID = 591]
4. (4) [Option ID = 592]

Correct Answer :-
® (2) [Option ID = 590]

9) means a menthly payment made to a Railway employee who is not in a
position to receive pay or leave salary.
(1) Subsistence grant
(2) Subsistence allowance
(3) Distress pay
(4) Advance salary

o 37 & Weh YoTa ST T TRT ST aTelT AT SETe i dete AT AT
et iTedt it et T 8T B

(1) FeieTe srgarer

(2) ferelte swm

(3) Hehe ST

(4) 3T da=



[Question ID = 149][Question Description = Q09_APO_PC_NAIRJUNE23]
1. (1) [Option ID = 593]
2. (2) [Option ID = 594]
3. (3) [Option ID = 595]
4. (4) [Option ID = 596]

Correct Answer :-
e (1) [Option ID = 593]

10) An additional amount of pay granted to a Railway servant in addition to the
emoluments, for arduous nature of duties or additional responsibilities, is called
(1) substantive pay
(2) special compensatory allowance
(3) special pay
(4) special duty allowance

e Sl ar Ffaied sateiical & fow aiiafet & 3faRea 30 g5 & & oie
arelt TR afer &t g1 ST B

(1) #ifowdaa

(2) oy gfagys sr
(3) Tagwaas

(4) T ey s

[Question ID = 150][Question Description = Q10_APO_PC_NAIRJUNE23]
1. (1) [Option ID = 597]
2. (2) [Option ID = 598]
3. (3) [Option ID = 599]
4. (4) [Option ID = 600]

Correct Answer :-
e (3) [Option ID = 599]
11) is an additional pay granted to a Railway servant working on a permanent
post as protection from a loss of substaniive pay either due lo revision of pay or any
reduction which is not due to any disciplinary action.
(1) Supermumerary allowance
(2) Personal pay
(3) Presumptive pay
(4) None of these

_ uE vuEl 96 W A e diel 1ol Jdeh & [GdT1 ol arell Ueh JTdRad dad g,
S dcier 7 Wi A1 faRt STeTRIATcAS HRATS & 0T el gl arel fahar ol Feldl
& T Hel dclel o AT ¥ FLAT & &9 A a1 S g

(1) ToaET aar

(2) cufFdeTd dae
(3) JeHITed dae
(4) SIAH TS AE

[Question ID = 151][Question Description = Q11_APO_PC_NAIRJUNE23]
1. (1) [Option ID = 601]
2. (2) [Option ID = 602]
3. (3) [Option ID = 603]
4. (4) [Option ID = 604]

Correct Answer :-
® (2) [Option ID = 602]



12) Remuneration granted to a Railway employee from the Consolidated Fund of India
for a special work which is occasional or intermittent in nature, is called
(1) duty allowance
(2) compensatory allowance
(3) honorarium
(4) reward

I FEIE F 9T FT g @ v 99w S & e ez are aren i@ S
Fafi-aeft @ anaUaE yid Fgar e, FEelal o

(1) =cred &=m
() erfoafe swm
(3) #AwCH

CYI EGHLEED

[Question ID = 152][Question Description = Q12_APO_PC_NAIRJUNE23]
1. (1) [Option ID = 605]
2. (2) [Option ID = 606]
3. (3) [Option ID = 607]
4. (4) [Option ID = 608]

Correct Answer :-
e (3) [Option ID = 607]
13) (A) Productivity Linked Benus (PLB) scheme is applicable to all non-gazetted staff
inciuding RPF/RPSF. (B) PLB depends upon the ratio between equated NTKM and
staff strength.
(1) Only (A) is correct
(2) Only (B) is correct
(3) Both are correct
(4) Both are incorrect

() Icareahel A g7 alad (FroerE) A FIRUH/ RS dfed @i eyt
FHUTET I o] ¢l (&) Toest FHe tadeea X HEaiar o §E § 9 6

FHuTel W 8- Fr g
(1) ad (O TEE
(2) et () W &
(3) el W@
(4) Gl I

[Question ID = 153][Question Description = Q13_APO_PC_NAIRJUNE23]
1. (1) [Option ID = 609]
2. (2) [Option ID = 610]
3. (3) [Option ID = 611]
4. (4) [Option ID = 612]

Correct Answer :-
e (2) [Option ID = 610]



14) (A) If a Railway servant dies as a bachelor or as a widower without any children,
dependent pension will be admissible to his parents. (B) In such cases, the financial
circumstances of the parents shall not be taken into account.

(1) Only (A) is correct
(2) Only (B) is correct
(3) Both are correct

(4} Both are incorrect

() afe; Tl Yot Jaer 1 sifaarfea ar e dae & @R & & & 7 @ ondr g, o
30F AT & HIAT 9= T gel @) 0 At & oo $ &

Rl &) earer & A8 T@r S|
(1) e (V)T E
(2)  haer (3N @&
(3) TS
(4) GEIIEEE

[Question ID = 154][Question Description = Q14_APO_PC_NAIRJUNE23]
1. (1) [Option ID = 613]
2. (2) [Option ID = 614]
3. (3) [Option ID = 615]
4. (4) [Option ID = 616]

Correct Answer :-
e (3) [Option ID = 615]
15) For calculating the amount of admissible house building advance, the repayment

capacity of an employee retiring after twenty years from the daie of sanction, will be

taken as of basic pay.
(1) 33%
(2) 40%
(3) 50%

(4) None of these
31 Te¥wToT 31f3m &y ar=ar & v F e wefa & A & §o e & e darfay

gioT aTe FEIR Y HIE g & e B A o & & v 7 or
ST

(1) 33%

2) 40%

(3) 50%

(4) ZoH &S R

[Question ID = 155][Question Description = Q15_APO_PC_NAIRJUNE23]
1. (1) [Option ID = 617]
2. (2) [Option ID = 618]
3. (3) [Option ID = 619]
4. (4) [Option ID = 620]

Correct Answer :-
® (2) [Option ID = 618]



16) 'What is the total number of Railway Recruitment Boards functioning in the country
today?
(1) 17
(2) 18
(3) 21
(4) 25

37T 3T 3 SR Yord a7l avst & aer He fahcwetl 87
(1) 17
2) 18
(3) 21
(4) 25

[Question ID = 156][Question Description = Q16_APO_PC_NAIRJUNE23]
1. (1) [Option ID = 621]
2. (2) [Option ID = 622]
3. (3) [Option ID = 623]
4. (4) [Option ID = 624]

Correct Answer :-
e (3) [Option ID = 623]
17) The recovery of ‘Advance of Pay' on account of transfer, is to be completed within
after effecting the transfer.

(1) 2 months in equal instalments

{(2) 3 months in equal instalments

(3) 4 months in equal instalments

{(4) 6 months in equal mstalments

FAATGOT & HROT 'HEH daa H g, DA REi g d ag . & ofial
o i T AR

(1) T fpedt & 2 Fg

(2) HAE el # 3 #ge

(3) @ Thedl 3 4 Hg

(4) T foFeal 7 6 TE

[Question ID = 157][Question Description = Q17_APO_PC_NAIRJUNE23]
1. (1) [Option ID = 625]
2. (2) [Option ID = 626]
3. (3) [Option ID = 627]
4. (4) [Option ID = 628]

Correct Answer :-
® (2) [Option ID = 626]

18) Rent and conservancy charges are recovered from employees residing in railway
quarters as per the charges fixed based on :
(1) Grade pay and plinth area of quarter
(2) Plinth area and type of the quarter
(3) Type of the guarter and class of the city
(4) Type of the quarter and grade pay

{oTd FAIET A 51 dlel SHAaEr 3 B 3R 49 god & TR 9T
TerliTeT Qeeh o FTeTar ager fanan ST &

(1) &= 3 Faeg # e e

(2) TFarcT & Toory &1 3 9

(3) AT T TR IR AET HT FIffeptor

(4) FECIHFIFR IARAZ T

[Question ID = 158][Question Description = Q18_APO_PC_NAIRJUNE23]
1. (1) [Option ID = 629]



2. (2) [Option ID = 630]
3. (3) [Option ID = 631]
4. (4) [Option ID = 632]

Correct Answer :-
e (2) [Option ID = 630]
19) What does sanction of variation in a contract depend upon?

(1) Availability of estimate provision

(2) Availability of adequate funds

(3) Ensuring reasonability of rate

(4) All of these

U 37e]9eT A GG T Faephct g X folail ST g7
(1) 3TAEA Y9 T ITc=dl
(2) U e F STEEIAr
(3) cXHa® HIAaar giHTad we
(4) TJEHT
[Question ID = 159][Question Description = Q19_APO_PC_NAIRJUNE23]
1. (1) [Option ID = 633]
2. (2) [Option ID = 634]

3. (3) [Option ID = 635]
4. (4) [Option ID = 636]

Correct Answer :-

o (4) [Option ID = 636]

20) For inviting limited tenders, there should be an approved list of al least

agencies.
(1) 20
2y 15
(3) 10
4) 5
e HAEee 3B w1 & o &5 3§ F5 TSl i AT [ gl
qifeu|
(1) 20
(2y 15
(3) 10
4) 5

[Question ID = 160][Question Description = Q20_APO_PC_NAIRJUNE23]
1. (1) [Option ID = 637]
2. (2) [Option ID = 638]
3. (3) [Option ID = 639]
4. (4) [Option ID = 640]

Correct Answer :-
e (3) [Option ID = 639]



21) Reply to Draft Paras must be sent under the personal signature of

(1) Diwvisional Railway Manager
(2)  Principal Financial Advisor
(3) Additional General Manager
(4) General Manager
21FE 4T T I & S TFIITT gl & daa Holl onal Oifgu|
(1) #Hsd o Jaus
(2) gure AT @eligsR
(3) W HETHEEF
(4) #HggEHUH

[Question ID = 161][Question Description = Q21_APO_PC_NAIRJUNE23]
1. (1) [Option ID = 641]
2. (2) [Option ID = 642]
3. (3) [Option ID = 643]
4. (4) [Option ID = 644]

Correct Answer :-

® (4) [Option ID = 644]

22) Due to the merger of Railway Budget with the General Budget, i

(1) payment of dividend has been stopped
(2) dividend has to be paid
(3) dividend provision is to be made but not paid
(4) None of these
I 997 &1 37 Foic & 96T 4= & ST, |
(1) USRI T SparcireT ek fem arm §
(2)  oITsnRr & Bj;ﬂ?ﬂ?rfﬂ?ﬁﬁﬁﬂ
(3) TSI T WrareIeT [T S § oifehel S[aTaet w1g] foham STie §
(4)  ZH E RIS w0

[Question ID = 162][Question Description = Q22_APO_PC_NAIRJUNE23]
1. (1) [Option ID = 645]

2. (2) [Option ID =
3. (3) [Option ID =
4. (4) [Option ID =

Correct Answer :-
e (1) [Option ID =

646]
647]
648]

645]

23) What does Part—| Audit Inspection Report deal with?

(1)
(2)

(3)
(4)

More important and serious matters.

More important and serious matters on items noticed by Audit dunng their
inspection of initial records in executive offices.

Minor and routine matters in executive offices.

Senous matters noticed by Audit during verification of station inspection.

crar-adaT Adamor RE o 9er Fad gaea g7

(1
(2)

(3)
(4)

3HfeI FgEaTet 3T AT A
FRIITE HTerl 7 g sEeat & Rleor & g craralier garr
& 91 el W 3 Ee AgeaTeT 3R iR AT

FIHI FTet 7 Arel 3 FafHg Jwen

Fee fadiaTor & Tearae & G SREr-SRiaT GanT & e e e |

[Question ID = 163][Question Description = Q23_APO_PC_NAIRJUNE23]
1. (1) [Option ID = 649]
2. (2) [Option ID = 650]
3. (3) [Option ID = 651]



4. (4) [Option ID = 652]

Correct Answer :-
® (2) [Option ID = 650]

24)  What does Part-1l Audit Note deal with?
(1) Minor and routine matters on items noficed by Audit while checking records
of Accounts office.
(2) More important and serious matters during checking of executive offices.
(3) Minor matters on noticed by Audit during verification of station inspection.
(4) None of these

TE-THaT A S| e dEfaa €2
(1) oRET SRR & 31faerE! 1 Sg HT THT SRErieT ca Sd! 718 Jar 1|
AR 3 afag A
(2) SR FHRATERT & ST & GRTeT AU Hgedqor Ug i A
(3) eeme fAYETor o HeaTget & gHIe olaradiat qarT & AT e A |
(4) S99 § IS AGT

[Question ID = 164][Question Description = Q24_APO_PC_NAIRJUNE23]
1. (1) [Option ID = 653]
2. (2) [Option ID = 654]
3. (3) [Option ID = 655]
4. (4) [Option ID = 656]

Correct Answer :-
e (1) [Option ID = 653]
25) \What are grants distributed to Zonal Railways by Railway Board called?
(1) Budget Orders
(2) Allotments
(3) Distribution of Grant
(4) None of these

YeTd SIS AN ST Lord 1 faciic JTeIale 1 T gl ATl 67

(1) =oie 3Tger

(2) e

(3) 3eEcrE faateT
(4) 5o { IS AR

[Question ID = 165][Question Description = Q25_APO_PC_NAIRJUNE23]
1. (1) [Option ID = 657]
2. (2) [Option ID = 658]
3. (3) [Option ID = 659]
4. (4) [Option ID = 660]

Correct Answer :-
® (2) [Option ID = 658]



26) While registering bills for aranging payment in the Accounts office, what is the

aliotted number called?
(1) AB No. or CO6 No.
(2) EBNo_orCO7 No
(3) Check No.
4) Claim No.

T ST A Sarcle ST suaEr & foT fael 1 delleur aWd §HT Adicd HEan

T Fgellcll 62
(1) UdT ey a1 W31 6
(2) SaraAETITEH 7 A
(3) TP AN
(4) crar e

[Question ID = 166][Question Description = Q26_APO_PC_NAIRJUNE23]
1. (1) [Option ID = 661]
2. (2) [Option ID = 662]
3. (3) [Option ID = 663]
4. (4) [Option ID = 664]

Correct Answer :-
e (1) [Option ID = 661]

27) ‘Bills recoverable' is a claim which is )
(1) preferred by other parties on railways
(2) preferred by railways on other parties
(3) pending on railways
(4) None of these

SRS 19 ToT Ueh U1 &14 § S 2
(1) Y9 O 3= T&Tl Gan GraT fohar I
(2) 37 9&I 9 {eTd GarT grar AT IR
(3) EdWdaEd
(4) TEH GBS G

[Question ID = 167][Question Description = Q27_APO_PC_NAIRJUNE23]
1. (1) [Option ID = 665]
2. (2) [Option ID = 666]
3. (3) [Option ID = 667]
4. (4) [Option ID = 668]

Correct Answer :-
e (2) [Option ID = 666]
28) What is the document through which a claim is preferred?

(1) Estimate

(2) Quotation

3) Bil

(4) Any of the above

e Fi=T TT e & Tores A & o R o i

(1) 3isheled

@ w

(3 e

(4) sARARTH

[Question ID = 168][Question Description = Q28_APO_PC_NAIRJUNE23]

1. (1) [Option ID = 669]
2. (2) [Option ID = 670]



3. (3) [Option ID = 671]
4. (4) [Option ID = 672]

Correct Answer :-
e (3) [Option ID = 671]
29) Which estimate is prepared when it is certain that the work cannot be completed
within its original sanctioned cost?
(1) Supplementary Estimate
(2) Detailed Estimate
{3) Abstract Estimate
(4) Revised Estimate

et T SR ad AR FRIT SiTaT § o9 a8 YRR g Siar § B @ e sud e
TR AT & 37X T el [RAT A1 Tl 52
(1) 3@1:[{333%
(2) Tl 3tTehelel
(3) T 3ol
(4)  GNTe e
[Question ID = 169][Question Description = Q29_APO_PC_NAIRJUNE23]
1. (1) [Option ID = 673]
2. (2) [Option ID = 674]

3. (3) [Option ID = 675]
4. (4) [Option ID = 676]

Correct Answer :-

& (4) [Option ID = 676]

30) Creation or extension of work charged post can be done only from

(1) EBR
(2) PPP
(3) Surplus Funds
{4) Specific provision in the sanctioned estimate
F g e 9E 1 Goiel A1 A hae H ToFar =T e g1
(1) ECIE g
() aydidy
(3) Jrreree

4) Tl 3TERee H 191215 TaeimsT

[Question ID = 170][Question Description = Q30_APO_PC_NAIRJUNE23]
1. (1) [Option ID = 677]
2. (2) [Option ID = 678]
3. (3) [Option ID = 679]
4. (4) [Option ID = 680]

Correct Answer :-
® (4) [Option ID = 680]



31) What is the parameter that indicates the financial performance of a Zonal Rallway?
(1) Periormance Efficiency Index
(2) Operating Ratio
(3) Eamings Ratio
(4) Revenue Expenditure

&R 37 o &I weie &l 3i3Ta &el arel |19 7 872
(1) weeie Gaidr gudhih

(2) ORI e
(3) 3 I
(4) UoETY

[Question ID = 171][Question Description = Q31_APO_PC_NAIRJUNE23]
1. (1) [Option ID = 681]
2. (2) [Option ID = 682]
3. (3) [Option ID = 683]
4. (4) [Option ID = 684]

Correct Answer :-
® (2) [Option ID = 682]

Which of these is the major seurce of funding for rolling stock in Indian Railways?
(1) Own internal sources
(2) IRFC
(3) GoviFunding
(4) None of these

STH U whieT |1 AR Lord # Velar Teles o (el ge &1 7@ 9id 872

32)

(1) g% Harks Hia
(2) IMESIHRUHH

(3) UITHHT JHeAgle
(4) SH T HIS TG

[Question ID = 172][Question Description = Q32_APO_PC_NAIRJUNE23]

1. (1) [Option ID = 685]
2. (2) [Option ID = 686]
3. (3) [Option ID = 687]
4. (4) [Option ID = 688]

Correct Answer :-
® (2) [Option ID = 686]

33) Who is the overall in-charge of Railway Audit function?
(1)  Pnncipal Director of Audit

(2) Additional Director of Audit
(3) Deputy Controller & Auditor General of India (Railways)

(4) Chief Executive Officer & Chairman, Railway Board

{eTd oETIaTT 1T o T TR i 87
(1)  orEraT & g e
(2) HfaReFa s sarier
(3) ¥Rd & 39 s va Agrorar TiaT (Io)
(4)  FE FEEr e i areaar, o A

[Question ID = 173][Question Description = Q33_APO_PC_NAIRJUNE23]

1. (1) [Option ID = 689]
2. (2) [Option ID = 690]
3. (3) [Option ID = 691]
4. (4) [Option ID = 692]

Correct Answer :-



e (3) [Option ID = 691]

34) What does Performance Efficiency Index indicate?
(1) Performance of a Division
(2) Performance of a Railway Zone
(3) Efficiency of one accounting unit
(4) None of these

GV GaTaT Wi T gRifar &2
(1) #HSol F 9ed=
(2) W I Silel T HERle
(3) TS oGl SHS Y gaTar
(4) oTH YIS TG0

[Question ID = 174][Question Description = Q34_APO_PC_NAIRJUNE23]
1. (1) [Option ID = 693]
2. (2) [Option ID = 694]
3. (3) [Option ID = 695]
4. (4) [Option ID = 696]

Correct Answer :-
e (1) [Option ID = 693]

Member Mechanical in Rallway Board has been re-designated as Member

(1) Rolling Stock
(2) Infrastructure
(3) Production Units
)

(4) Noneof these

Iord 91 § GoTg A 9 o8 & TF F O & A& fhar T §1
(1) derTels
(2) TSI ST
(3) 3cUTGH FHISAT
(4) SAAYFIS G

[Question ID = 175][Question Description = Q35_APO_PC_NAIRJUNE23]
1. (1) [Option ID = 697]
2. (2) [Option ID = 698]
3. (3) [Option ID = 699]
4. (4) [Option ID = 700]

Correct Answer :-
e (4) [Option ID = 700]





